COMPUTER BASED TEST - 2023

PAPER -1 / &neir - I

BUSINESS ADMNISTRATION
(PG DEGREE STANDARD)

Assertion [A] : MBO is effective way of planning and organising the
work

adluynsse [A] : @h&Csrer  Guararew (MBO) aearug  Ceaueeaw
LLReugh@Gh @EIsSmLILSHED Lwgear auflurgd

Reason [R] :  Employees participate in setting the objectives
smyewrd [R] D Qase fliramugde vaflwreriser umGahdarmeri

Both [A] and [R] are true

[A] wppid> [R] @ren@Gio o
(B) Both [A] and [R] are false

[A] wppio [R] @ren@Gu seup
(C) [A] is true but [R] is false

[A] &R syammed [R] seumy
(D) [A] is false but [R] is true

[A] seum e [R] &

(E) Answer not known
eflen QsMwaelevena
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2.  Management By Objectives (MBO) is implemented in an organization by
stages, one such stage of planning includes,
GP&Canaraaflar apeon Guanaredw ererugl @ Ppeuasfler Heawsd pebd
QeuOL@EsILEEHDE. HILOPENE SsPEL R SLLSSD,

1.

2.

Assigning responsibilities for achieving objectives

Qes@Gsmar JMLSHETE CUTNILILISG®ET UEIEGS®

Choosing strategies appropriate to the objectives

PasEHEsE Qurmsswran 2 gHamens CaibsBLLS

Allocating resources for achieving objectives

BEGHEHEE ADLUSHETET ASTIEISMET 281680 Qalgd

Scheduling specific activities to achieve objectives by maximum
resource utilisation

Sfsul s aeammEma UWETUHSFUSET (Lped @osEsmer e
GOUALL Qeudursamer S Bz

Identify the correct sequence in which the action planning stages are

implemented.

Qewedr HLBLd Peowsar Qeuoudssuun sflurar aflosow sieLwrand
SreeLb.

(A) ]‘, 2, 3’ 4 (B) 2’ 3’ 4’ 1

© 341,2 D) 2,1,3,4

(E) Answer not known

e QgfNwelerene
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Review of an employee’s performance accomplishments in an MBO
system is done by

@m MBO wi@wude gm uvallurerflar Qewadper srgaeansaflean wHiumie,
< Qeuwutiu@Géng.
(A) The employee

oarflwif

(B) The employee's supervisor
eanflwilen Guopurreneuwmer
% The employee and the supervisor
uesflwreri wHmb CuHurTeneuwireTi
(D) The employee, the supervisor and a lawyer
uvenflwreri, GuhHurieeuwmeri LHMD euLPESHDEHT

(E) Answer not known
afler Qg flwaiidvene

Which planning is concerned with the organisation as a whole?
abs HLLpep Hmeuad Wew&@GL FUBSILILL G ?

(A) Operational planning ﬁr Corporate planning
Qaweur’ () Sl e fimeuer S blLé

(C) Divisional planning (D) Unit planning
Qfley Sl e VG Sl é

(E) Answer not known
clen Qsflweldwena
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5.  Arrange the following controlling process in chronological order.
Wemreumd sLGUUTL(H Gsudpapaw wapliuy eflasiiuhsseyw.

1. Establishment

Ppieyse
2. Comparison
RUIE
3. Measurement
N N
4. Feedback
Gergyn b
A 2,31,4 &Bfl,a,z,zx
C) 1,4,3,2 ‘ D)’ 3,1, 4,2

(E) Answer not known
fen AgMueNdene

6. In functions of management ‘Span of Control’ refers to

Cuerareawuler deudur@seie ‘sl Guumyer Sés aarug eeaner?

(A) Orders and instructions received from only one superior
SLLeaTgeT wHnib iHeyemrsamar Cr m CuadariuiLBmbs umgD

(B) Authority flows from the superior to subordinates
sifsmses Cuadsmilifimbg SpHae eamfufib udiaug

(C) Each group has one head and one plan
Qe Guas@h @G smaai @Gr Crrésn Gmuus)

A Number of subordinates whom a manager can effectively supervise

2@ Cuadsril asgmear sm_floe safuamy CupuriamedBeug

(E) Answer not known
efer GsfweNdene
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The acronym POSDCORB about functions of management was coined by
freurssden Qewdur@seda upPlu smaswrear POSDCORB-g 2 mpeunsdlweur

'Af Luther Gulick
QBT @@Slé;

Newmann and Summer

©
© Bl Guwer wHMmID ST

(E) Answer not known
Hlen Qs fMweicvena

Match the followings :
QemeumeuaTeupern QuImmSS)s.

(a)

auifl eIy

(b) Line and staff organisation 2.
aufl LHMID vesflumeTT SiewLLIY
(¢) Formal organisation 3.
WPHDWITET SieoLILY
(d) Informal organisation 4.
PODETTT SHOUILY
(¢) Functional organisation 5.
Qeweur_({H ey
@ ® @© @ (¢
4 3 2 5 1
3B) 3 2 5 1 4
©C) 2 5 3 1 4
D 1 5 2 3 4
(E) Answer not known
e QgHwelcrena
7

Line organisation 1.

(B) Henry Fayol
Qaper SHuGuired

(D) Henry Lawrence Gantt
Qamerd emyeney Sreir

Based on the concept of functional
foremanship

Qesweur®  LCumiCGweradlls  erem
SMmE®S SigLIumLWNES QT g)
Have clear chain of command
Qgefleunar s Laner grdled Gouamr(®ib

Staff play an advisory role
oearflwIfgeT R < Caongenerl
unsrsensg cudlsfpriser

Supervisors have direct control
over subordinates

Cuadaria@ss Spugbseuiser Bz
Cory s QUuUI® 2 6Terg

Satisfies need for affiliation
@earuy Cameuamw LisdH Qsudpg
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9.  Which of the following sequence constitute the stages of formal group

development?

Yereumid eulens epwlilsaildd arg pepwirar G eueri&éulen Hlepaser ?

(A) Acceptance stage —» Group solidarity stage - Communication and
decision making stage — Group control stage
ghy fleew - W emewiurh Heew — Asriiy wHmb Wyt HEEw
oo - Guws sLEuur @ Haw

6 Acceptance stage - Communication and decision making stage —
Group solidarity stage —» Group control stage
goy fleoe — Ggriy wpnb Wylau@EsEn How — W @meLIUT®
Bl - Gusé s GuuI’ @ Hew

(C) Communication and decision making stage — Group solidarity
stage — Acceptance stage —» Group control stage. )
QgrLiry wHmb WPREuHsEEGD How - G @mewvuur® Hoo — gy
Bl - Gwé sLBUuuT @ Hleve

(D) Communication and decision making stage — Acceptance stage —
Group control stage — Group solidarity stage
AgrLiiy wpmbd WYylus@nd How - giy oo - GWws sLEUUIE
Hlenaw > @& @mewiur® Hleve

(E) Answer not known
allenL Qgfwelorena

10. An arrangement in which two managers working at the same level can

communicate with each other directly for quick communication?
2w Hnuagdad Cueramisd shsagy Csuddpoar sfss, swonearen
Cuerarisefi_ib Crrywrs gseud ufwrmb WD

(A) Peer communication (B) Grape vine
swnenen CFmLiTL&eT Som’_ensuilen quien
W Gang plank (D) Gang way
GuD LM GWbue el

(E) Answer not known
elen AsNweNdenew
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11. Match List I with List II and select the correct answer using the codes
given below.

ulgwe In uigwe II 2 Lar Qurmsd ECp Qar@ssuuc (Hder GHluiGsamerns
vweru@msd sllurer udlmaws CaibASHESD.

List I List II
uligwe I ugwe II
(a) Planning 1. Training
-3 [T\ () uuQH
(b) Staffing 2. Forecasting
venflwimerit erardleiiiy
(¢) Directing 3. Evaluating
QusEs® ' wHNIE
(d) Controlling 4. Motivating
sL(HUuBHSSISD ar&&SUIL(HSSD

@ ® @© @
A) 3 4 1 2
B) 3 2 4 1
2 1 4 3
D) 2 3 1 4
(E) Answer not known
Mer Qgflweidena
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12. Managerial skills applies to managers at
Bireunss Speser 2 etem GuemerisEhé@n QuTBHEID

(A) Middle levels in an organisation
o0 Bnaasie pEssT Haasafd
(B) Top levels in an organisation
@ Hneasde 2 wir Hawsaio
(C) Executive levels in an organisation
e Bneueargdld flireuns flanwsaid
@Y All levels in an organisation
@m HneuarsHe simansg Hawsald
(E) Answer not known
allenL QAgfwaeildwens

13.  What refers to establishment of relationship with a view to co-ordinate
the activities of all those who are not the part of the organisation?
PnpeesgLer  Qsriiy @dergaisallar  pLegsosou  @adoanss
FHUBHSSULEHWL QBT eTeleuTD AMWPESLILIHLD?

(A) Co-ordination by external leader
Qeuefl genaveurméd gHUBL GHRH@erTIL
External co-ordination
Qeuafliiy gmriudlenamtiiy

(C) External control
Qauafluiyw sLQuur@

(D) Self co-ordination
W @(mideanentiiy

(E) Answer not known
eflenL Qzfweidena
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14.

The way an organisation should respond to external environment refers
to
e fnuasder Qeuall Gl saig BLsms aeuurn Qmés CouamhHib erearug
k)
(A) Organisational communication
Siemwiiysmt Agmiy
6 Organisation ethics
Hyaagden 58 Apdopop
(C) Organisation environment
Hyeuen Gpd
(D) Organisation culture
Hnieuar seorgsmyb

(E) - Answer not known
e QgMweilcrene
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15. Match the following
Yereu(peuameupanpls Qur s s

(a) It allows no difference discretion 1. Strategy
Qg Caupur® Slmriyfeanweanws 2 54
AW HESNG

(b) Itis a military term ‘ 2. MBO
B8 Qrrgnies sG5S) MBO

(¢) Itis a planning, coordination 3. Rule
and controlling tool 94

Qg HL b, @midaemtiy
wHYL S_HUUTLIRHETET &(Had

(d) An objective base managerial 4. Budget
philosophy approach faflow shswms
Qs GN&Camer g ivienLWeorer
BifeuTs s5gioud LHNID JASGLPPD

@ ® © @
v 3 1 4
B 1 2 4
©C) 2 4 3
(D) 4 1 2
(E) Answer not known
allen Qs fwaeldwenew

W = W N
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16. Which of the following is not a part of the principles of management

given by Henry Fayol?
Spsramuepmer g GQapardluCurd  Gueramew  ssgleumisalld  odr
SILBIGTSG) ?
(A) Unity of command 6 Functional foremanship
SLLEeT @HmIenLD Qeweur @ HCuriGuweradis
(C) Unity of direction (D) Scalar chain
Sasllen ehmento SjaTelled Fridled
(E) Answer not known

elenL Qs flweldwene

17. Who was the main contributor to decision theory school?
wgey Cariun@h ueteflsE Qumw vrsallggeur wri?

18.

@

©)

(E)

Herbert Simon (B) Koontz and O’Donnell
Gapi@Qul. engwen gaciev LHMID @ CLmard
Chestar Barnard (D) Earnest Dale

Qeevit Quiremit(® gaevl G

Answer not known
e Qzflwelidens

The main aim of Taylor was to
Qrwedar (Taylor) wsflw Crréswns Qmbs3

A)
<
(©
(D)
®)

Improve labour relations

Qagmfleorart 2 paysamer CuLUBSSHISH
Improve productivity

2 HusSHsHnemen CubUBSSISD

Attempt a general theory of management
Qurg fiireunass Camum e pwhélsse
Fight of workers’ rights

Qamflerart 2 MawsEpsstear GuryTLLib

Answer not known
eenL Qgflwaiicene
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19. Which of the following statement is/are true about management?

Qereumb spmi/sFmppsaild erg Cuararaw upMu o a@remw
(1) Management is a factor of production
Guerarenn aenug 2 HusHossner sryenilum@n

(1) Management is a doing function
Cuaramenn ereug Qewdunh Geidpg

(i11) Management is a wider term than administration
Cuanamenw ererug Hheunssmsel . LFHSSTEGL

(A) (1) only (B) (1) and (ii1) only
(11) v @b (@) wopw (111) wL

'(6 (1) and (ii) only (D) (i1) and (iii) only
' (1) vHpb (1) LWL ' (11) wHmd (111) wL P

(E) Answer not known
cdlen Qg Mweildena

20. Henry Fayol attempted to develop
QamendlsuCuired 2 (heurss WPuhdssd GhHss Camur®
(A) Scientific Management
SiMeflwd smihs Camameanio
6 Universal Theory of Management
2 awsearmellw Cuararenw Cariumr®
(C) Productivity Theory
2 Husd Hoer Camum(
(D) Neo-classical Theory

g uperw auriipgs Carium@

(E) Answer not known
alen Qsflwefdena
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21.

22.

“Practice of Management” is written by

“Guenrarew poLwean’ e

d P.F. Drucker (B) Henry Fayol
P.F. gyési Qanerd) SHuGuimed
(C) Taylor (D) Rath
QL wevir g

(E) Answer not known
Slen Qg Mwaeiidencw

There are specific ways of making a Message extremely memorable
among the Employees which is known as

m@mnaaﬂm;@u Qeifleow Bsadb WLPSSPYLTS RETDNES @mEs @aulIushHE
LeOSIUUL L eufi&eT 2 6Teng). Seueumn Qe pweeug) aeTug)

(A) Power of Context (B) Power of Message
Geilen 555 QawHulen g58)
6 Stickiness factor (D) Law of the few
SLLIUOUBSSID Semenio Seoflenm &b

(E) Answer not known
afer Qg flwelicrene
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23.

24.

Organizational culture refers

SO SNFFTID GN&Sng

(a) It refers to a set of beliefs, values and attitude shared by everyone in
the organization.
Qg Pyeuargde 2 eer earaugrgib uAFOUGDL BLAG@ESsE, WLAHLILSET
LHDIL NS Wopsailer AgrElmus GN&SHDS.

(b) It refers to the way in which organisation are managed.
Qg Hpeuarsans HicufléEn wapaws GNsdng.

(A) (a) and (b) (B) () only
(a) womd (b) () wr o

& (3) only (D) Either (a) or (b)
(a) wL@w (a) sowg (b)

(E) Answer not known
cllen. Qg flweiidena

In a conflicting situation, “If party A has concern about other party B,
and not much concern for himself’. Then resolving conflict by “A" is by

A pui B pufllLn wraru@dlam Gpded sais ansses «0ss B pui g
iEsoD eQISFID FFETEETET SiTey STGD (P

(A) Avoidance Approach (B) “I win-You Loose" Approach
seiTUIY SIEIEGWP®D “I win-You Loose" wigmi@epern
Accommodating Approach (D) Give and Take Approach
L)TESLOTET IEEPDD Give and Take wigngwean

(E) Answer not known
edler Az Mwadena
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25. Which of the following statements are correct with regard to teams?
Saflsmars Qurmsseueny Geteumb Fmbhmsaic g Fflurearg) ?

1.

(A)

(©)

(E)

A lead team follows the approach of “do as I say”.

paefloe el “‘prén  Qemanaieng Qel” @  SIEMIGIPEDEWIL
QerupmHlng.

Quality circles are the example of problem solving teams.

&7 el Lmsarnarg §éso Sis@n Guwsselldar arOSgs sTLHSaTMELD.

Cross functional teams will be disbanded when the problem is
solved .

fsse SirssLiupb Cung GM&EGE Gewdun_(Hé GUWEEET s@SSILEHID.
Self managed teams are formed to solve a specific problem.
GIUAL L Hssmas Siss sw Cuanamamws @&wWwese e (heurssuubhéeapar.

1 and 2 are correct 2 and 3 are correct
1 wpmb 2 sRwurareney 2 wpmw 3 sflwrerenal
2 and 4 are correct (D) 3 and 4 are correct
2 wpmiw 4 sflurereneu 3 wppb 4 sflureneneu

Answer not known
clenL Qgflwelcreney
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26. The theories that explain the formation of “Informal Groups” are to
include which of the following?

“‘papsryr Gussallar” e maursssas dlas@n Camur@se eteumeuareudBle
aangs Ceiss Geuammid ?

1. Propinquity theory
SimaETen Carumip
2. Similarity (or) Balance theory
@hmeaw ydag Foflaw Carur®
3. Displacement theory
@ uQuuirsd Gasmiur@p
4. Need for achievement theory
gngemen Camunh Csameu

Choose the correct option from those given below :
&Gy Qsrpssuu_petaraupflambg sfwunaeupen CsibAsHssab.

(A) 1and4only 6 1 and 2 only

1 wpmib 4 L HW 1 wpmb 2 WP
(C) 1,2and3only D) 1,2,3 and 4

1, 2 wpmd 3 wLHWL 1, 2, 3 wpmd 4

(E) Answer not known
ellen Qg Mwelcvena

27. Which of the following is not the organisational factors of job
satisfaction?

Ylemeumeuareumdled ergy uenfl Hpussrer s@wLIL WD STraiseT S ?
(A) Nature of work Assigned ﬂEducational Qualification

auprisuul L Cauameulergerento a6l 5&d
(C) Pay and other benefits (D) Opportunities for advancement
sarfluid wHHID WPUETEET wenCarhnsSHHaETear eumiitiyser

(E) Answer not known
cllenL QgMweldene
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28.

29.

30.

Which one of the following is not related to anger emotion?
emeu(meuanaupdled erg Camu 2 ammidsluLenm GQFTLILeL WG e ?

(A) Fury (B) Outrage
EHoLd S Gwid
Depression (D) Irritability
weng Gemirey erh&ged

(E) Answer not known
aflen Qzflweidenc

If an employee shares his resources to colleagues for attainment of job it
is termed as a form of

vellwreri sag §6 uaflurarme@ semaflLib o drer cuetThsamer USihg Geuee
SmLw 2 g6l Qeiieg agman GDlsSlarmg ?

(ﬂf Organisational Citizenship  (B) Positive attitude

Bmeuen @qujfleno Criroenp gemenio
(C) Character (D) Discipline
Qupueity RPEED
(E) Answer not known
elen Gz Mweildvenaw

The External Factors that stimulate Perceptual Selectivity are
Hoaanrieys Csieneu grambdlenrm Ceuafluiym sryenflaer wreneu ?
(A) Trust, Ambiquity, Congnitive
Bsms, Agetlaflereny wHMID SiHeurbdmed
Repetition, Novelty, Intensity
HmwusECsugdH, ygmw wHmID Sellgw &M HFD
(C) Value, Goals
LHUILSEET WHOID BVdEGSET
(D) Patience, Good Health and Role play
Qummen, R CrrsHwbd wHmb ukCsEHuyseT

(E) Answer not known
ellenL Qgfwaildene
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31. The tendency to seek stimulation and to enjoy the company of other
people is

giamphsoes GCsheugh@n wHpeiseiea Gameamame E@IUMILILSHEGWIE R
Cunés,

ﬂr Extraversion

UDIWSSETenLD
(B) Agreeableness
THNSEASTETEBD SemanLo
(C) Neuroticism
2 ani&SI @D Fementd
(D) Openness to experience
Sigiucusdnsrar GeuaflliveLggemeno

(E) Answer not known
clenL Qgflwelldana

32. Trait theory presents a qualitative approach to the study of
varry  Gamiur@® srorer JGGWeDPeOW QEsrhsdng, CsTiiy 2 @yew

U OIUsHE
(A) Emotions (B) Values
2 e iT& S ger wdiyser
6 Personality (D) Attitude
2EHELD SADGSY DD

(E) Answer not known
elen Gsflweidene
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33. Which is/ are the features of perception?
LeogenTiellehn baFhISET cTeneu ?
I Intellectual Process
sifleysmi dswaapenm

II. Psychological Process
2 araflwe Qewkapenn

III. Socio - Psychological Process
geps 2 areflwd Qswepeanm

(A) Tonly (B) II and III only

I b @Gw IT wpmyw I we GG
« 1andIIonly (D) 1 and III only

I wpmod IT we EGCwW I wpmd IIT wrHCw

(E) Answer not known
e GQsflwaeiidenaw

34. ——— theory, thus, focuses on the relationship between behaviour

and its consequences.

Camiur®h, @dueurm, FLSMSSSGD

@eLlorar 2 peiléd seuand GFissSng.
(A) Classical Conditioning theory
Heanflsse samgagaiinn Camiur®
6 Operant Conditioning theory
Qeweun’ @ samgeagefin Camium®
(C) Cognitive theory
SiMeurpmed Carium@p
(D) Social Learning theory
seps &He Camumr®

(E) Answer not known
alen Qgflwelcvanaw

S GlleneTe s @héE LD
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35. Which of the following is / are correct?
Gemeumeuaneupdey ergy sflwimang) ?

1.  Mc Clelland — ERG Theory
aél Hetwam. -  mryied Camun®

2.  Skinner — Reinforcement Theory
e dleeuiv - ag@apl e Cariur®

3. Vroom — Equity Theory
Vroom - swuiig Gariun®

4.  Locke —  Expectancy Theory
s - eadliumiuy Camiun®

(A) 1only (B) 2 and 3 only
1 v 2 wHmb 3 WL Hb

6 2 only (D) 1 and 4 only
2 wl @b 1 wHmib 4 wWCEL

(E) Answer not known
elen Qs fwelévenew

36. Which one of the following factor is not related to biological factors
relevant for determinants of personality?

Genreumd  sryerfiselies g p@paweaw SioralluauiseréE AsTUiy@Lw
2 uilflwe sryarfisEpLsr GaTLiiyeLwg e ?

(A) Heredity (B) Physical Features
ugUeny 2 L) IIDFRIGSET

(C) Brain ﬁ Attitudes
{penar SIS (SPDDEET

(E) Answer not known
eflen_ Qzflweildenay
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37.

38.

In the motivational principle, the performance is a function of a Person’s
level which is the product of

saflwfer 2 paells@n Qararansulenr, Aeuddper ararug Qemeusafier CumEsD

(A) Goal and Motivation " Ability and Motivation
Crprésn wHmb 2 HgeNssH Soer wHMID 2 Hgesse

(C) Needs and Motivation (D) Esteem and Motivation
Coamauadr wHmib 2 bgeNSsd wHiy wHHb 2 bz

(E) Answer not known
cflenL Qgflwaeicene

is the strength of group member’s desires to remain a part of
the group.

aerug  GuWeller @ AmsLTE QMHES GCouaThHb @D G
2 pQenfler efmuinkisaflen euellenwo.

(A) Informal Status 6 Cohesiveness
wpoparym Hlene as5famsay

(C) Status (D) Task force
s&SHlene Qewinsss @

(E) Answer not known
clen Qgfweiidanc
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39. The entire work of a manufacturing concern is divided into production,
finance, personnel and marketing according to importance, A separate
department is created to look after each of these. This is called
em 2pusd geopller marsgy uamilsmerynd g wWisHwusgeud &SmH,
e pugd, B, uellumarisger wHmb FhMsLLESSHSO e WNSEHILL HeTerg.
Qaeu geueurarenpub seualss sallsgan 2 (meurssiul Hetarg. @&
aTar JAMWPSSLLHEDG.

(A) Vital for implementing plans {Specialisation

Sl msener QFuDUGHSSHISH Blyemrggieuwd
(C) Optimum use of resources (D) Team work
cuenraigatlen 2 &hs LweaTUT(H &UUenf]

(E) Answer not known
ellen Qs Mweldwenaw

Business Administration - 10/3 - FN 24



40. From the following choose the right matches:

Weeupeuanaupier sflwrar Qurmpsshsmars CaibAsH &S D.

1. Industrial revolution -
Qgmfeé yyd -
2. Human relations approach -

waflls 2 peyseflen sigGwan -—

3. INlumination experiments —
eyl Léd uflGsrgamenser -

4.  Scientific management -

<ifleflwe Gueramento -

(A) 2 and 4 are correct
2 vpmd 4 sAlwureTeney

(B) 2 and 3 are correct
2 vppw 3 sflurerenay

(C) 1 and 4 are correct
1 womw 4 sflurereneu

Q{) 1 and 2 are correct

1 wpmd 2 sflwrerency

(E) Answer not known
ellenL Qg flweildvene

25

Led to increase in production

2 Husd Hafss aufleu@sH@bd
Workers were distinguished from
non human factors

Qzmplemerigsar wallswmm
snyenflaeflafmbgy Coumu L eurger

To find out workers attitude

Qazmfleomeri wariLmeTa®WS
SerL_Hw

Human relations got recognition
in business

Awururgsdled  weaflls 2 pasEHSE®S
DRESTTD HepL&GLb
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41].

In which of the following organisational behaviour model managerial
orientation is towards power?

Gereumd erhs Hlmeuan pLseng wrdfl, Hieurs Crrsghloew ifasmsams Crrsd

2 _qeng) ?

(A) Custodial Model
smeud wrlf

(C) Supportive Model
g sreuailsgd wrdfl

(E) Answer not known
alen Qgflweildena

{ Autocratic Model

aGssedangw wrHf

(D) Collegial Model
gal_(h wrl

42. The significance of measures of dispersion is to determine the

of an average.

ugeud WaEHwsgeubd eremug e Fyrefluden

(A) Relationship

2-he|

(C) Stability
e pd

(E) Answer not known
clenL Qgflwaiéens

43. Regression is a measure of

Bremruiiiug) <@ .

g( Reliability

BHLOUGSSETNLD
(D) Responsibility
Qurgiiy

relationship between two or more

variables in terms of the original units of data.
yareflullweller GemamenLey erergtb pewm eTetug Sreyseflen g0 i @Gsaflen

SiguueLwtier @ranh oG ASHS

— 2 paumGLb.
6 Average
gyngfl
(C) Analytical
U@GUUmOey

(E) Answer not known
allenL Az fMweldens

Business Administration - 10/3 - FN

Cupuul L wriseEpsd Qe wblorer

(B) Technical
Qzmfdmcu

(D) Inverse
SODED
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44.

45.

46.

The hypothesis asserts that there is no real difference in the sample and
the population in the particular matter under consideration is termed as

R GOUECL a;rrrﬂu_lgsg,lm B ThdgHsE Csmer Lorrﬁlﬂa;@m Qunss waseT
Qsress@hd QoLCu aps @m Cauppmwubd Qdame aam eudlumnsssp
&mgICamer

% Null hypothesis (B) True hypothesis
yBw smg5Camer 2 amenw &(mg GCamer

(C) Alternative hypothesis (D) Rejected hypothesis
wrHY SHHCHTET Arrafsasiuc L smgCamer

(E) Answer not known
el Qs flwelcrene

is the average of difference of the values of items from
average of the series.

Qsrifar syreM@amig 2 @muugseaiar wHuyselear ellgHunssden symef

(A) Range (B) Standard deviation
Qzrene@wdena AL eflewssd
Mean deviation (D) Mode
gl () sgrefl elew&sd LG

(E) Answer not known
elen Qgflweldene

A deserving player is not selected in National Team, it is an example of

sedwurar  &ipi  GCzflu eillier CsipOs@ssuuLcdame, Q& asHE
T(HSHSESTLLMGWD ?

(A) Type —1II Error KType I Error
@neTLmb euens Genip W5 cuens Glan

(C) Correct Decision (D) Sampling Error
sflwner auey wrdfl Genip

(E) Answer not known
cllenL QgMwalicvensy
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47. Which of the following sections are not in the “main text” of a social
research report?

R sWws ey sfsmsear “‘WsAu 2 emuid” Gaaumb Yfayseld g

@deme ?
1. Introduction
SiBlapsid

2. List of tables

DL LGuenewTL) UL lguled

3. Table of contents
2 _GTETL &5 <BiL_L_6L6H6uT

4.  Summary
&(HESLD
6 2 and 3 (B) 2 and 4
2 wpmid 3 2 wpmib 4
(C©) 1and4 (D) 1and 3
1 wpmw 4 1 wpmnd 3

(E) Answer not known
eflen Qzfweldena
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48.

Assertion [A]

spm [A]

Reason [R]

smyemd [R]

Business statistics validates the theoretical and
generalised concepts that have been formulated by the
top level managers.

awanlls  yeatell  Neugmger e wiwr L Guerarisermed
o paunssuu L Cariur® wHobd CQurgeuner HHSIHSaT
2 pHULBSSSDS.

Business statistics deals with uncertain situations and
help the managers in making decisions and forecasting
demand.

awaflsgls yearefl  efeugrugzer Hlsw  wHp  GRHlewsmars
@swuradarper wHmbL WPreysmer aRuugshEn GCsameuaw
weradeliiugn@n CuarerisEnssE 2 sodng.

d Both [A] and [R] are true and [R] explains [A]

[A] wpmw [R] @ramdn slwureaig wpmb [R], [A] @e dlaé@ing
(B) Both [A] and [R] are true and [R] does not explains [A]

[A] vpmw [R] @ranpn sfwreng [R], [A] eweu elerssaiidana
(C) [A]is correct and [R] is false

[A] sfwreng wHmb [R] seupreng

(D) [A]is false and [R] is true
[A] seupreng wpmw [R] sfwreang

(E) Answer not known
aflen Qg flweiidvene
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49.

50.

51.

Which of the following scale measurement tells whether an object has
more or less of characteristics than some other object?

Gemeumd et Camaller org @@ Qunpelien @emmdwumaser wHY QurmeeaTell
SiflaswrsCeur g GmpaunsaGeun o drerg ey Gerddng) ?

(A) Nominal Scale 6 Ordinal Scale
Quuigerey ereyCamred Igeaned ereyCamed

(C) Interval Scale (D) Ratio Scale
@e_Qeuell ereyCamed elflg sereyCamad

(E) Answer not known
een GgMwaeNdene

The researcher is going to take samples, where it is difficult to identify
the members of the desired population. Name the kind of sampling.

< rmusSluneri gremr ellmbw wEsET AgTsGd QMBS S@LWIETD STETUS
sqaions oeem  wrdflsmer aHuug b waswrar wIHAuTésy e
Quuwfeyw.

(A) Judgement Sampling (B) Convenience Sampling
Sy wrdNurssod cugsl wrHRwunssnd

@( Snowball Sampling (D) Quota Sampling
uelllupg wrdAwurésn 28680 wrPAlurssod

(E) Answer not known
adlen. Az Mweildena

Which one of the following is an external sources of secondary data?
Yeeumeuareumdled erg) @yerrLmd Hlene sreyseflen Qeualuiyp <LgmTyb?

(A) Cost information (B) Customer feed-back
IiLSsme FHeued UM SMSWINETT &HSS)

6 Annual reports (D) Distributors report
2 TL_HlEns AFIGwrluumerflen odléams

(E) Answer not known
eflenL QgMwalévena

Business Administration — 10/3 - FN 30



52.

53.

A complete enumeration of all the items in the “population” is known as
wsseT  Qsrevsle oder wadgs  Qurmplseflar  WwewwTeT SeEEE
T SAMPSSUILI(HILD.
(A) research tools
< TTUES gmegeT

(B) research problem
< ITLES Ygssenanger

(C) research design

IMUES GugeuenDLILY

M a census inquiry
w&sET (gnens samsQabLL edeTrenent

(E) Answer not known
alenL Qg fwaeildveney

sampling is more efficient as compared to simple
random sampling as it increases the representativeness of the sampling

#@QpHssdlan ArHHdsgeusams dfsfuugmed QD HSS®,
aellw &Hp &OpHssme @UAGmsEH ASlasdper OGHSSI-
(A) Cluster (B) Systematic
Qarsg penDwImen
5 Stratified (D) Quota
2056 25580

(E) Answer not known
Men GsfMwaeildenaw
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54. Cluster Analysis may also be referred as
Cluster Analysis — & wLHODTEH Quwi.

(A) Cluster design 6{ Numerical Taxonomy
SlarevL it euigeuemLIL] erawr cuens GMgge

(C) Numerical Analysis (D) Numerical design
CTET GUEN& LIGLILIMUIGY CTEHT GUENS GUigGUENLDLIL]

(E) Answer not known
eflen Qgflweidana

55. Which among the following is correct in the context of research?

Yemeupid sapmisefiery gpymisflésrar @Gadd org slwreng ?
(1) Itis a systematic process

Qg em wepwrer QFwd wpen
(11) Based upon empirical evidence
@I YFTIRSaTlen 2jiguiuemuied

(111) It is not an intellectual inquiry
@8 sidleysri ellgrgenean Sidww®.

(iv) It adopts scientific method
88 sifellud wapew GaudHADs.

@ (), Gi), (v) only

1), (1), (1v) L Ew

(B) (), (1) only
(1), (111) v @Pw

(C) (), (ii1) only
(11), (ii1) wL_ @b

D) @), (1), (ii) only
@), (i1), (ii1) w Eo

(E) Answer not known
eflen QgMwadvena
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56. Name the conceptual framework in which the research is carried out.
< ymiEs CuhAsraremiiuBn smsHwud sl Lamwildea Quwuamys GHUGHS.

(A) Research Hypothesis (B) Synopsis of research
L ITUES &mGCETeT S ITUFEG6T SmHESHD

(C) Research paradigm 6 Research design
SLTMUFE (PETESTTERTLD SIS GG eUELOLILY

(E) Answer not known
clen @sfMweilcencw

57. The comparison of actual attained with goals agreed upon method is

known as
o grewwller Qeug WuHsMs, @uUELsTaT. QasEgLear @UULH uriss
wHUAGL ey ————— Werp e APwLLBHEDS

(A) Assessment centres
wHUSH @wwd

(B) Peer appraisal
ggaflwir wHINIEH

6 MBO management by objectives
MBO @f&Camér epad Cuanamento

(D) 360 degree appraisal
360 x&fl Camem LHUSH

(E) Answer not known
e QgMlwaeildensy
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58.

59.

aids in designing an equitable wage structure.

(A)

(©)

(E)

swwren 2adi AMLUMU GUIGEUMWES 2 S SDg).

Job mix ) Job Evaluation
Couanaw savenay Ceauara wHUSH
Job Enlargement (D) Job analysis
Gauenaw eflfleunésid Ceauemed LIGLILIMIGY

Answer not known
clenL QAgMwaeldvena

What are the core elements of a dissertation?
PWays s(ergullen W&l samser wreneu ?

(A)

(B)

(©)

ot

(E)

Introduction, Data collection, Data analysis, Conclusion,
Recommendation.

2flpaw, srey Cafluy, srey uGlLMLG], Wigay, LAlbgI®Y.

Executive summary, Literature review, Data Gathered,
Conclusion, Bibliography.
Biteuns &mEsw, Qasdu ey, CesNssliulL srey, (Pig6y, BTEIWE.

Research plan, Research data, Analysis, Reference.

TMOES b, ImiuE grey, uGLUMLey, GHuy.

Introduction, Literature Review, Research Methodology Results,
Discussion and Conclusion.

ANWabd, QasHu W6y, PITWES WYaD WGase, efeurgb wHHD
(CLE

Answer not known
clenL QAgflwaeildena
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60. The purpose of research is not well served unless the findings are made
sanhguysdar  sflunes  Qsfealsselldmobueaprd, g rmisdlufear Crrésd
Spuiunss QeweuLng).

il

(©)

(E)

Known to others (B) Known to people
WwHDEUTHEHEE C5Mujb W&E&EHESG 5 Mujbd
Known to readers (D) Known to public
UNESTSEh&@E, @Agfluyb Qurg w&EEHHE QAFflub

Answer not known
clen Qzflweildvency

61. Applied Research aims at
vwetum () rmiasHullen Crrésid

(A)

B
v
(D)

(E)

Surveys and Fact finding enquiries of different kinds.

uGaum uUMSWITET LUIGYSEET WHMID 2 TS SETHIlg LIL|SET

Use facts or information already available.
THEATCeu 2 6TeT 2 ETENWNEAT STEYSHET ADOF SHEUOSMETL LIW6TUHSSIS0

Finding a solution for an immediate problem facing a society.
R FPpsD THIQSTETEHD 2 L arg jFFmans@hsE Siey sramug)

Generalisations with formulation of a theory.
Camlumiger 2 (HeundsdgL e CurgamwuBdgieug).

Answer not known
clen Qg Mweildenew
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62. The advertisement in news papers, magazines and journal can be called

as
Qewdsner, wrg @sp, GMNUCUBsier CQesuwiiuhb eSlaburd @eeunmy
SIWP&ESLU(HILD.

(A) News Paper Advertisement (B) Magazines Advertisement

Qewdgrer eflembugd LTS @SP&ET efeTbuFd
K Press Media (D) Journals Advertisement
Qe sngeniiger SHUCU® eSleTdurd

(E) Answer not known
aflen Qgflwaeildena

63. The third approach to the advertising budgeting process is
eflembuy FlH S 586, ppeTDTEUS ANSGWP®D GTEHTLS)

({ follow the crowed (B) follow the consumer
Fal LSms GeTubmeyLd B&TCGaureny AemubHmeyd

(C) follow the people (D) follow the employee
Ww&ESEMeT eTUHDELD vesflwreteny GeTuHDE D

(E) Answer not known
elenL Qg fwaeidvenay

64. Telemarketing refers to a sales person initiating contact with a shopper
and closing a sale over the
QAL wrT&Qs gk aaTug @ elhumanunei @b SOLESTTHL QsTimus

Qgm_md allpueenenw (WP liumss GN&SHDg.

(A) Television (B) Computer
Qgrevavgm_§ sewtlefl

6 Telephone (D) Marketing field
QgrenaGué sbasILMHSSD FGIMD

(E) Answer not known .

cllenL Qgfwaeideney
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65.

66.

Which of the following are not the channels for direct marketing?
Wereumeuareuddled erancu Crry shansullgissrar CoaTiaEar 6e ?
1. Telemarketing
QLel shanguilwied
2. Green marketing
& shangudlwied
3. Kiosk marketing
&Cumevd shengudlwicd
4. Viral marketing
MeuUTD Fheangullwied

(A) land3 Y% 2and 4
1 wpmd 3 2 wpmib 4
(C) 2and3 (D) 1and 4
2 vpmw 3 1 womd 4

(E) Answer not known
elen @sflwelcrenaw

refers to the perceived well-being of people in groups

and individually and the well-being of the environment in which people

line.

gsafl pugTaCaun (1) GuWeaursGeur aurw wésefler HO@STU|D DHEUMHET UYL
GuHlaoewuub smsHe Aareareug,

(A) Right to be redressed (B) Right to be heard
Hleuisd Qaiicugharer 2 Meno Casl@w 2 Menw
(C) Right to be informed ) Right to quality of life
Qzfeils@w 2 Menwo aumpsas srsshaner o fenwo
(E) Answer not known

clenL Qs flwelérene
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67. Marketing mix is the term used to describe the combination of the inputs
which are core to the company’s marketing.
sHhMSUUMHSSD soaal eratug) Bimcuarsden sbmsLILHSSHH ——— MDWILNG
BmsEw 2 dathsaflen samaumu eaufssy vuaTLESSILHL G

(A) Policy System
Qamerens SI@OLILY

(C) Finding (D) Needs
s HIL9ig LIS EBEES, Caeneuger

(E) Answer not known
elen Qsflwaildena

68. Which one of the following is not an element of a viral marketing
strategy?
Qeeumeuareumiley 618 emeured WMTEEASL1GHR 2 SHNET QM ARSD BID® ?
(ﬁr Difficulty in transfer from one person to other
enauflflmbg QeardearmmeunsE wrHmeuSd Hwib.

(B) Exploit common motivation and behaviour
Qurgieuner 2 Bgso WHOID BLSMSMWL LIWGTUHSSISH

(C) Scales easily from small to very large
Adlwug wse Bls Quilug ey aallfler Qeddsens @ me@WD

(D) Utilises existing communication network.
ghsenCeu 2 arer Agmiry QL Qeuriseamst LweaTuhSHEDG

(E) Answer not known
edlen Qgfweildane
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69.

70.

“Marketing mix represents the settings of the firm’s marketing decision

variables at a

fneuarsfen sHmsUILHSSD WPi4a| LINUIHGHT —————— @ FHDF SO

W&AW vRSTHHFDS.

(A) Advertising and Sales Promotion

clleTburd wHMWL fhumen 2adk@eiliy

(B) Price
allenev

6 Particular point of time

GSHuEr L Corb

(D) Product
Qum(mer

(E) Answer not known
cflen QgMweildena

The third stage in the marketing research process is deciding on the
shang e wensefler epeTpreug Wpep erenug)

(A) Exploratory Research
QUIasEGNu g rruss

(C) Descriptive Research
Nensswoner L ymiuss

(E) Answer not known
elen QgMweildenc

Research Design
STTUES GugcuenOLIL

(D) Causative Research
SNIERTLONGT 2, TTiIFs
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71. Creative marketing is

uenLUY HensLUBSSD eremug)

(A) A marketing department entailing several employees
ue esrfuiisenetd Qara @@ FHMSLUHSSH HMDWTEGD

(B) The brand value of an organization
@ Pneuarsflen g7 emLwrer wHuumEn

d The marketing content and its inventive aspect
FHOSIL[HSESD 2 GTeTL &S WHNID NG STHibligliL] SDFLTGWD

(D) A set of schemes undertaken by the organization for distributing
the marketing materials

shansLILHSSD QumrmLsener AFICurduiusphsans Hncuarggme
Cup@srareTuiu@®in HiLksaiar Qgm@riungh

(E) Answer not known

elen GsMweildena
72. facilitates in channélising the product to end consumer.
e pusd Qaus CQummener @miF msTCaunEE @I @euss

2 g élpg)
(A) Sole trader (B) Wholesaler

safl ellpueanumrar Qurss elpHueanumari
(C) Retailer Intermediaries

Aoaweny elHuemeTwimerit @erLggaETsar

(E) Answer not known
elen QsflweNdene
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73.

74.

Marketing environment may also be classified on the basis of other
criteria.
EhnsLILI[HSSD GLD wH slereyGamevsetien Sl Uuenuldled
uSULHSSILLMD.
I Space-local, regional, national and international
MamQeuafl - 2 dreni, ArmbHw, Caflw wpmb FreuGss
II. Time-past, present, future
ST - SLbBS ST, Hlspsnob, adlisreon
III. Change-static and dynamic
wrHHb - Hleowrer wHmb WIMLD
IV. Marketing Information System
S56UE) ML 2 (HheUTE @GS
¢ 11,10 correct (B) 1, I1L, IV correct
L 11, III sfwreng I1, 111, IV sflwreng
(C) III, IV, I correct (D) I, 11, IV correct
III, IV, I sfwneng L II, IV sfwreng
(E) Answer not known
clenL QAgflweildensy
In competitive bidding, if the profit is Rs. 200 for the bid price Rs. 2,200

with the probability of 0.8, what is the expected profit?
Cumiiys@iu alamaamme wapuie,

gaaiee - . 2,200

orubd - . 200

Rapssa) - 0.8 e GpHlevauie eadiumisdern @Tuwb eraraeuns @) HEEGL ?

(A) Rs. 1660 (B) Rs. 180
Mevew em. 1660 aflenav em. 180
Rs.160 (D) Rs. 200
evaw em. 160 eleva em. 200

(E) Answer not known
cllenL Qgflwaeilcveney
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75. i1s the marketing logic by which the business unit hopes to
achieve its marketing objectives.
TeTUgl FHMSUILOSSOE FTEs WPDSHET epad @b cuanfls Hmeueard
sangl shasUILBHSZIFO6 CrIsssms S Wb aTen BHUGmaEwn@GLD.

) Marketing strategy (B) Product strategy
shasLLESSED 258 surfiiy 2 54
(C) Market segmentation (D) Market mix
sheng \Gfleyser SHNG SHOMGL

(E) Answer not known
edlen G Mweicvene

76. The final disposal of goods takes place in
QurmLseflenr @ms sHHH BLEGWL GLbd

(A) Tertiary market (B) End market
gpanpmd Hleovw spag Bui spws
Terminal market (D) Last market
Yoen Fheng - s S FHhang

(E) Answer not known
aferL Gz flwaidane

71. concept views customer as a last link in business
aumgsmswreateny euaflaslen san 8l QaverTiLIng SHIHID SSg6uUD

(A) Production concept (B) Exchange concept
2 Husdl ssgieud fordpb ségieud

(C) Marketing concept ) Selling concept
FHamsullwed FoHgeuLd pueer g6

(E) Answer not known
ellen Qg flwaidene
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78. What is standardisation and grading in functions of marketing?
shenglILBSsOen Qeuduriigd STUIUBSSL WHMD ST HFERTWID CTTDTD TeTaT ?
(A) Gathering information and analyse the needs of the market
shesulen Cosameauamws updlu sseudsmars Caaflsg LGLUMUey Gswuged
6 Ensuring uniformity in the product
2 HusdHllen Ermen semepwerw 2 MH CFalisH
(C) Objectives of the company
fmeuengden GHEGanerser
(D) The product that suits the needs of the consumer
nsiCeaurfen Cgameusi@ ghu swmiliiy

(E) Answer not known
eflenL Qgflwaildveney

79. In “Marketing Myopia”, the tendency of firms is to take a
ewCumiwur sbmsuuBsgiudd Hineuartseaiisn Cursa, o

(A) Broad view of the market
shasLILHSSH LHOHW LFHEs uTiTae
6 Narrow view of the market
shamsUILBSSH uHdu Gndwu uriene
(C) Broad view of the MIS
MIS updw urps urieme
(D) Narrow view of the MIS
MIS updwu Epdu uniemeu

(E) Answer not known
alen Qs flweiidvena
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80. Excessive attention to either production or the product or selling at the
cost of customer and his actual need will drive the firm towards
o pusd vag swurfliy oeg w@rysoswuraflda oo wLHHL Seurs
e gnenowinanr Ggeneu yHweupdlen ellenavuier allhuemer Qaiicudledr Hasseuand

Qeggib Hmeuasams CrréHl——————— oimpsgs Qadgb.

(A) Product concept (B) Exchange concept
QurmeT &mSS uflordy &mSS)
Marketing myopia (D) Value creation
shansUILHSHSD GnIDUTTEDG wHUy 2 (HeunEsD

(E) Answer not known
elen Qs Mlweldrene

81. In the marketing, top level management plan is called

shemguiwede, o wiblL Cuerarews HLsos eTemm)
SIDP&ESLIL(HILD.
(A) Business unit plan Y{Corporate plan
auanfla i@ HLb Bireurs S b
(C) Operational plan (D) Marketing plan
Qewdur @ b shangudwed b

(E) Answer not known
fer Qgflweiidena

82. Who is the king in markets?
WITT FHNSSETEN FF6H 2

(A) Seller (B) Producer
eflpuenerwimari 2 pugdumeri

M Customer (D) Banker
QUG SENSWITEITIT cuiiflwimeri

(E) Answer not known
elenL Qgfwaelcrens
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83.

84.

Stock-in-Trade being a floating assets should be valued at

Bgs@n Qstsgaalld geamrer wrury sraf@mrndea wWHUSE

SiFeT 3ligriuemuie wHude Ceuam@ib.

)

(©)

(D)

(E)

Cost price
L &5 e

Cost price or market price whichever is lower
SLES e by shas e @ ag GmnCeur
Market price

sheng eflen

Cost price less depreciation

SLsslamouladmbg Coliwnasas sWss

Answer not known
eflen AsfMweiidency

An independent audit is also called
aspdrwren saflamasanu GeieumHl ®PESLTD

(©)
(E)

External éudit (B) Internal audit
yogeaflsens 355l Ens
Balance sheet audit (D) Bank audit
@wuyfaas iy saflsms awnd seanflsans

Answer not known
e QgMwaeiidwene
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85. Technique which use the computer itself for the audit purpose are
known as

saflsms Cpréasdnans saflaflouCu uwaURSFHDL HILUGRSET

e msslnbEenmer.

«

(B)
(©)

()

(E)

Computer Assisted Auditing Techniques
saflafl 2 g6l gaflsans HIL LksHT

Computer Applied Auditing Techniques
saflefl uwetur () saflléams mLLksE
Computer Auditing Awareness Techniques
saxtlafl eNPluyemtirey sarfléens HIL LIRS
Computer Auditing Automated Techniques
sanflafll gnaflumd gaflsms HIC ukigeT

Answer not known
cllen @QgMwadena

86. Written plans prepared by an auditor showing the nature, duration and
extent of the audit procedures is called :

safléams B (papulen setew, sToL wLHNDL SeaTey JpHuahens ST (HID

senfl

(A)
(©)

(E)

semswrerygred gwrfssiulL S L miseT @eaumm SimpsstuhHng.

Audit verification (B) Audit valuation
sanflgens sflumiliy saflsans wWHUISEH
Audit of accounts \ﬂY Audit programme
satlsans sanss, santlsens S L

Answer not known
elen GQsfMweildene
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87.

88.

Auditing practices committee was constituted by the Institute of
Chartered Accountants of India (ICAI) in the year

safléams BOLWPODS W@ QBHU  ulLwEs sanssmaTisdT  HnURTSSTD
2 (HAUTESLIULL. 36T (H

« 1982 (B) 1972

(C) 1962 (D) 1992

(E) Answer not known
en Ggsflwaeildensy

Which of the following methods are considered as methods of providing
depreciation?
Qéeupd aThs P&t CHULIMTEMS UPRIGD WPDEETTES SMHSUIUGH S GTDeT ?
(a) Insurance policy method

@en@renev umedld penm
(b) Mileage method

awCah wem
(c) Global method

2 QaeTmelilu (Wpenm
(d) Universal method

WguEhs Wem
@A) (), () and (@) (B) (a), (b) and (d)
(b), (¢) wpmin(d) (@), (b) wpgid> (d)
© (a), (c) and (d) v (a), (b) and (c)
(@), (c) whpgid (d) (@), (b) wHmb (c)

(E) Answer not known
clen Qg flwaeidencw
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89. Machinery purchased for cash will
Quipdlriisemer QrnsssHing eunki@GGung,
(A) Increase total asset
Qurss Csngg nHafs@n
(B) Reduce current asset only
BeL(penp QFTsg w B G@moub
Increase fixed asset and reduce current asset
Brpsy Qersg afsflsen wHmb pLop Asrsg @D
(D) Increase current asset and reduce fixed asset
poLep Qsrsg aHallss Aorss Qsnss Gapub
(E) Answer not known
eflen Qg flwelldvene

90. While preparing accounts from incomplete records, the amount of credit
sales is determined by preparing

YuovwHy ghsaldar sans@saldBhg s elhumear Asrasou sRTHGYES
swumi Qe sawées,

(A) Total creditors account \{Total debtors account
Qurss sLafbCsri s, Qurss sLammellser samss,

(C) Trading account (D) Profit and loss account
ellununy saTées, Qe BLL Sams,

(E) Answer not known
clen Qs flweldene
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91. Depreciation is a , which records the expired utility of
fixed assets.

Cauinmend eremLg, GL. Qg Heowurar Qsrsgsseflen
sroreudurer Lwerum el ufle| QFudng.
(A) Revenue loss (B) Net loss
cu(BEUMTL @LpUiL a7 @wuy
(C) Gross loss ) Cost loss
Qurgs Quy Geaay Gty
(E) Answer not known

92. Trail balance is a list of

clenL Qgflwaeicveney

@muumie eTeTug) UL Iguiem@Lb.

@ All the debit and credit balances of the ledger account

(B)
(©)
D)
(E)

CuGrL(® samsdlen Smandgg UHM WHMID auTe| @) HUILSET.
All the assets and liabilities of the firm.

Pneuangdlen simansg Qersgssdr LHMIL QUTHILILSET.
All the debtors and creditors of the firm.

Pocuasen simarsg sLamaiaer whnb sLaibCsiser.
All the revenue and expenses of the firm.
fycuarssen imansg e wHYID AFwa|sHarT.

Answer not known
e Qgflweiidens
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93. If cost of goods sold is Rs. 80,700, opening stock Rs. 5,800 and closing
stock Rs.6,000. Then the amount of purchase will be

bm Qurmlseafien oLss el . 80,700 Qsriss srsfmuy - . 5,800
wHnb @miH sysHmuy ap. 6000 e dw flavouie Qararpsd eTey eramar?

(A) Rs.80,500
580,500

(C) Rs.74,700
574,700

(E) Answer not known
elenL GgMweildvency

(B) Rs.74,900

74,900
m(gs.so,goo

580,900

94. Contingent liability appear as a footnote in the balance sheet. This is in

accordance with the accounting principle

shl@swe Qurmuy @muy Hlews GHuGd @M vigs Ghuurs Carammb. @&

(A) Consistency
Hlerasseneno

(C) Conservatism
UPELOGUTELD

(E) Answer not known
efer @AgMweildena
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samsSluc QsnaTanssE, Qs 2 6Targ).

) Disclosure
Qeuaflils gD
(D) Matenality
Qun(mereuans



95. On balance sheet, accruals, notes payable and account payable are listed
under which category

@muy fee @hude, sburdssd, Qsass Cauamew @duysdr wHmb Cegss
Ceuatmqw sané@ ydweeu ECY eThg sam@Udien Speu(mHLd ?

(A) Accrued Liabilities
Aricuuce Qurmuyser
6 Current Liabilities
sHGurensw QumrmLILseT
(C) Accumulated Liabilities
Ceiigg) meusslIu g h&EGW QUTmILILEET
(D) Noncurrent Liabilities
BLUL Sens Gurmliyser

(E) Answer not known
cllenL QgMwaeiicveney

96. The main purpose of preparing a bank reconciliation statement is

@ i sors JMsams swuriiinuger Wwasdw CrT&sLD.

(A) To know the bank balance
usdrisefiar sbens wHumu QeuaflliuBsgsen

(B) To compare the entries in the cash and pass book
soman Hipeuen sans@Gaamer STl Flpeuamiis@hLer @hhdlameanssd

(C) To correct the cash after comparing with pass book
ureL LsssSILe UL (B unisg uanseans Filllgww

6 To reconcile balance as per pass book with the balance as per cash

book

urev  ysgesHar @muy CAsmenserw, uewm UssssSdlenuy  @muy
QgrengyyLe sMGFLIW

(E) Answer not known
allenL Qg Mwelcrene
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97.

98.

Petty cash book is maintained for
Soowern Qrrés o)

(A)

1]

©
D)
(E)

Small purchases
Adlw Qsmetpsed

Small payments
Adlw QsrHuveaeyser

Bills collection
2 amgwe CesMiy

Small purchase and payments

&@ urmLASSLUBHEDG.

Aflw Qsmetpge LHHL QSTHLILETEYEET

Answer not known
cllen Qg fwaelcrene

Which of the following pairs are correctly matched?
Qereumb Cyryseaild qeam eflurst QunmbsHog

1.

(A)

©

(E)

Business Entity
cuentls Hlmieued
Stock Valuation
&18@ wHLSEH
Capital
PG SRTLD
Going concern
B ss Hevoownen cumpaey
2,3 and 4
2, 3 wHmbd 4
1,2 and 4
1, 2 womd 4

Answer not known
ellenL Qg flweleren
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Accounting Standard
sarsSlud gyblene
Consistency
Hevassenanto
Drawings
ar(huy
Assumption
<SIGILOTETLD
B) 1,2 and 3

1, 2 wpmd 3

1,3 and 4

1, 3 wpmw 4



99.

100.

Which of the following is not considered as an analytical aspect of the
accounting profession?

Geraumauaaupde g samsdlwue  Qsmfdlar uGLUTLE  HLFLISS
&mSLILLelerenen ?
(A) Evaluating an organization’s operations efficiency

em Pneuagdar Qeudur_Hsdnaear wHLTH Qe
(B) Forecasting the probable results of future operation

adigne Qeudurpsaier snsHuwrear wyasmer earardlelss
(C) Designing systems that provide information to decision makers

Wy GauHUILEITEHEHESE SHEUDSMET GUPKIGLD SMLLUILSMET 6UlgeUMDESHED
6 Journalizing and posting business transactions

aueflsl uflauissmangamer udley AFiige LHYD GH@SUTLD

(E) Answer not known
Men Gsflweiidenaw

In which of the following concept fixed assets are recorded in the account
books at the price at which they are acquired?

@bs smsHo Aowwurar QsrsgissdT e @sUSLLESSIULL  mauid
s@T&E Usssmsaten ufle Aeuuu@Searpar

(A) Matching concept (B) Accounting period concept
QurmBGID HHS) Sa&ESL[H ST HHSI

(C) Dual aspect concept WCost concept
@l WDED S(HSG Qswvey &mSs)

(E) Answer not known
e Qg Mwelicrens
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101. Which of the following items should not be entered in Receipts and
Payments account of a Club?

@@ Hearllen Quumsd wHML CFQsFSD a;amasaﬁlco Yemeumeuaneupdldr eTens
2 eraflL&dnL Mg ?

(A) Expenses paid for the previous year
WhHdsW ey HETen QFaeysar
(B) Subscription received in advance
e ipGw Qupuiul L shgTéser
(C) Sale of old newspaper
uew AFudsrasmer allhmed
'() Loss on sale of old furniture
UMW saTeurLrager elhueaarie @iy
(E) Answer not known
cdlen Gz Mwaeidana

102. Goods destroyed by fire should be credited to
Ellemmed PBs AUIBHLSET eurey MmeussuL Caudmgw sarss
6 Purchases Account
QaraTpsd sanses,
(B) Sales Account
eMpuenan samTd@
(C) Loss of Goods by Fire Accident Account
SuWlarmmed BLL e b QUIHLSET SawTé S,
(D) Trading Account
Hwruny sewés,
(E) Answer not known
edlen Gz flwaeildena
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103. Which one of the following is not a component of Gross Domestic
Product?

Qereumeuareupdled arg Qnss 2 1B 2 HusSullen snm Sie ?

104.

(A)
(©)
(E)

Government Spending 6 Leading Indicators

376 QFwey QFuige enanantl GDlETiqHeT
Net Exports (D) Investment Expenditure
Hlsy ghmind WsSL[ Geaay

Answer not known
eflen G Mweildvenew

Economic Profit is given by
Qum@erngry @TUL eTETLS)

(A)
(B)
()

(E)

Total revenue — Total Explicit Cost

Qurés aumeuris — Qurss QeuafliuemLwrer Qgwe]
Total revenue — Total Cost

Qurss eu@meurs — Quwrgg Gawaey

Total revenue — Economic Cost

Qs eumeurs — Qummerngny QFwe]

Total revenue — Total Implicit Cost

Quwrgg eumeurs — QMg waPWs CFway

Answer not known
e GgMweldvenaw
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105. Which one is the correct method to calculate national income?
Csélu aumpwraIsang sansdHeusnarar sllwrear pen 6rg ?

.Af Net Product method
Blay gwrfliy e
(B) Pay back period method
Hwuhs Qegusgib s Wpen
(C) Return on Investment method
WSS R Wparpuler WSHTar eumLTELD
(D) Net present value method
By sHCGurengw wHiy weon
(E) Answer not known
ellenL Agflwaidvens

106. There is a Linear Relationship between Sales Volume and Costs. This is
the Basic Assumption of

pueenr etey wHMIL Csweyser @ram@w Crllwd 2 pey QararLg e
@GNS SlgliumLwns Qsrar QsraTens
(A) Johnsons Algorithm for S-V-C
grangan swarfgn for S-V-C
(B) Time Value of Sales — Volume and Cost.
huenen eTey LHYIDL QFweysaflen sre WHOY
(C) Forecasting Error in Sales
cipuerarie semfliy Qeny
\{) Break Even Analysis
sLUM.(H UGUUMley

(E) Answer not known
edlen @gflwelidvenay
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107. When prices continue to rise inspite of price control, But at less than
potential rate, it is called as

devaws s UUI Q@hs GCurdaid, olmesdar Csribgy 2 wmbd Gung,
snsHwoner lfgsmss ST b GopPaursGas QMmEEGL eTar MP&EsLILbHeug

T ?
(A)

(©)
(E)

Moderate Inflation (B) Galloping Inflation
WOgwren ueTei&aHwD 2wy QUHEL UETEISESD
Hyper Inflation 6) Suppressed Inflation
o W uaTeissLd SILESLUIUL L LETeI&EELD
Answer not known

eflen Qg flweildane

108. Gross Domestic Product is the basic social accounting measure of
sWPSTL SasHld Qrss 2 dreni 2 Husd ereueurm Serell LG EDS) ?

A)
(©)

(E)

Total Input ) Total Output
Qurss 2 eraf(h Qurss Qeuaflui®
Total Consumption (D) Total Purchase
Qs 2 LGunsw Qursg CGarerpged

Answer not known
cllenL Qgflwaeildwvene

109. Calculation of National Income at Market Price is known as
shms ellamauld Csflw aumwrarsams sansdHeug ear arang Qerdaliu@ib

«
©)
E)

Money Income (B) Real Income

LIGRT GU(HLOMETLD 2_TEILD GU(HLOMGITLD
Non-Monetary Income (D) Current -Income
LeTLOIOTS GU(HLOTETLD SHCUTEMSW Gu(HLOTETLD

Answer not known
e Qg fwaeldwens
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110. Fixed Cost per unit increases when
@0 svfpsrar flaownear allae auiCung xdsfsdng 2

(A) Variable Cost per unit increases

e sflparer wrh Qswe| AHsNsSng
(B) Variable Cost per unit decreases

@ odflpasrar wrh CFwe| GdnSDS
(C) Production Volume increases

2 pusd siarey sifsMsfng

Production Volume decreases

2 Husd ey G ns
(E) Answer not known

allen Gz flueiidenaw

111. A Key Factor is
M W& sryewt eTetug)

(A) Budget Factor T{)Limiting Factor

UL QgL smyenf USTUMISSIUL L sryenf
(C) Cost Factor (D) Profit Factor

Qsavey smyenf @eoru smyenfl

(E) Answer not known
edlen Gz fMweiidena
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112. Calculate Margin of Safety
Profit = Rs.2,25,000
P/V Ratio = 40%
ungismiy eleflby semsdH\s :
@emuwb = ¢5.2,25,000
@eoru erey Afsw = 40 %

(A) Rs.90,000 1‘{Rs.5,62,500
- 90,000 m-5,62,500
(C) Rs.3,37,500 (D) Rs.4,27,500
en. 3,37,500 ¢5.4,27,500

(E) Answer not known
en GsMweiidenaw

113. Contribution is
ulisaflly ereug)

(A) Excess of Sales over Total Cost
Qurss Qewemes eHlL aflhumer Haid

(B) Excess of Cost of Sales over Sales
Apuemarew Al alpuamer Gewe; H&WD

(C) Excess of Sales over Fixed Cost
fevawrar Qsweas@ Cuad allpumer HHabd

Y{) Excess of Sales over Variable Cost
wrlellemamwueaiL HHswns huemer

(E) Answer not known
elen G Mweidencw
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114. cost is added to change in the Level of Production?

2 HusdH wiLsHd wrHPSHDHE Qswey CersaLBEDS.
(A) Sunk ) Incremental

ep LS W HaM&Ew
(C) Opportunity (D) Replacement

GumoILILY wrHDH

(E) Answer not known
cSlen Qg Mweidvenaw

115. The producers and traders buy their inputs and raw material, when
prices are low and sell their output, when due to some unforseen
external factors the prices have gone up, then profits resulting there
from are called
swrfluurarmw, elpumaTuraT®B  epOLIAUIBLSme ellw® @G®Deuns eurkid
wyeydp QurmLsmer, oifls dleasE bhumear Qeudapert, ifs el
adituryrg yp smeaflsarnd gHu@eaustd, wHd @EbE FLLOLEL Gerub
GTeueUMD SIMP&ESHUIUBHILD.

ﬂf Wind fall Profits (B) Water fall Profits
sThm S pFH @eomuid sameanti 6Spss @emud

(C) Market fall Profits (D) Price fall Profits
sheng ipssl @emuid Menaw eipsd @emud

(E) Answer not known
ellenL Qsfwaeldwenew
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116. Which of the following statements are wrong with regard to
measurement of profits in a firm?

R Hpauasdar arusms erelBeug Qsmiurns Gemeum dlsamssafler g
SEUDTETS) ?

1.

A)

(©)

(E)

Straight line method of depreciation does not take into account the
increasing cost of repairs in the later years of the life of assets.
CopiGam_ (s Cswiwrer wpeapwrerg Qsrggssaiiean GHuGH eumpsamsuiier
safE@w ugunriiy QFwesmer ahiSHs dararermg).

The revaluation method of depreciation is used by big firms where it
is very difficult to maintain an accurate account.

@@ sodluwrer samséms ugrofliug Wsaw syerors @msEn Guiflw
fpeuamseaned wy WHUSH Cswwrer weap LWETUBHSSILHEDS.

Base stock method of valuation of stock can be used by the
industries in which a wide variety of raw materials are used in the
manufacturing process.

2 Husd Qewduriyd uvdGaumy epouCurmlsmerny  UweTLRSSID
fneuerhger srsflpuen  sawmddl  SglueL  spEHmUY  pepew
vweTuBSSemd.

Standard Price method of valuation of stock is useful to the
companies which do not have standing costing

sr&flmuy  wHLAOL WeapwWd Sl wapwurargy SHiL sy
sam&Slwued @dng Hmieuankis@hs@ LWIETeTSTE Q) (M@ D,

1 and 2 62 and 3

1 wpmw 2 2 wpyw 3
3 and 4 (D) 1and 3
3 wHmb 4 1 wpmw 3

Answer not known
elen Qgflwaildene
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117. The Economics applied to problem solving at firm’s level and Integration
of Economic theory with Business practices is called
Bmeuer wlLgHeo Hssea Siuug), Qurmetngry Camium g6 6 mid eI e
galpw cuanfls FepL(WpaDsar SLmSu QuTGBETISTID 6Temug).

( Managerial Economics (B) Private Economics
Hireurs QummeTmgmybd seflwmt QummeTrsmyD

(C) Management Economics (D) Economics and Management
Cuarameny QumBaTTSTILD Qurmerngmyd LHHW CueraETEL

(E) Answer not known
ellenL Qg flwefdena

118. According to their typical characteristics, Fluctuation in economic
activity are not commonly classified as :

Qaausaflen cupsswrer @Garndsumseflen Ly QurmeTTsnTy BLeugsmasaild gHm
@nsshsd QUIguTs uamsLHSSLILILTSMEa TS

(A) Secular trends ﬂBusiness Fluctuations
uen@enhirsrol Cunés, auafle g @nEsd

(C) Cyeclical Fluctuations (D) Seasonal Fluctuations
O gHn QN&EsD UHeUST GFHD @MEED

(E) Answer not known
eflen Qgflweidena

119. The Chief source of concepts and Analytical tools for managerial
economics is micro-economic theory also known as :

Cueramenw QummeTtgngsd W SHHIHSSEHL WHMDL UGUY Qe
smeils@Enb, Hamaflu GurmeTTaTySSldd ereueumm MPESEILIHID.

(A) Product Theory '6)’Price Theory
Qurmer Carum@p e Camium@p

(C) Elasticity Theory (D) Demand Theory
Apdlpey Cam_umip Csemeu Gamum(

(E) Answer not known
len GAsfwalieveney
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120. Capital is the foundation of business. Its efficient, allocation and
management is one of the most important tasks of the managers and a
determinant of the success level of the firm. The major issues related to
capital are :

s cuaiasiear gssaTd. Jiger Hpevwrar, @g5&E0 wHmb GCuoraren
aarug Cuaenariseaiiar s wsfwwrer uaflsalld gamrEn wHmb Hycuargser
Qeupd sieteneu HirammuAviugn@w. epasand Asr_iurer wasdw Wrsfloaser:
I.  Choice of investment project
@ESLE S sBar Coiay
II. Assessing the efficiency of capital
epgarsder Qewwdneer wHOISH Qauge
III. Most efficient allocation of capital
eposasden Waeayb Hnamowunear &S0
IV. Issues Related to Macro Variables
Cu&Cym wrhlaar Qgriurear S&saser

A) 1,IandIV 1{)1, I and III
(C) II I and IV (D) 1, III and IV

(E) Answer not known
e Qgfwelcens
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121. Among the following what are the decisions to be taken by society?
\Getreu(meuaTaubdler FUPSD THSGSD (Pig-aYSET CTEHTE ?

(a) What goods will be produced
arerer GummLser 2 Husd GeLwtu@b

(b) Who will produce goods
wr Qumrlsener 2 HusdH Qeiicumiser

(c) What determines consumer preferences
B&TCeaurt efmuiukiseamen erg SiwnalsHng

(d) Who will consume the goods
wr QUL ST HISTEUMTSET

@) (), (), © only ¥ @), &), @ only
@), (b), (©) wC Gi> @), (), (d) L 6>

© ®), ©, (@ only D) (a), (©), (@) only
®), (©), (d) wrEo @), ©), (@) wreo

(E) Answer not known
e QgMwaeldvrens
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122.

123.

Indicate the correct answer for the combination from the following
regarding the economic concepts in business application.

SpssnamuaupPled  euerfls vweTuTlgd 2dater  QurmeTngry  EHWHSZHSafled
sflwnareupenp Gsfey Gawis.
(a) Opportunity cost principle

amily Qe Qsmatans

(b)

Fixed cost principle
Haowrar Qswe Qardrans

©

Discounting principle
SaT@EnUg QamaTeans

(d)

Time perspective principle
Crré sanCeammL Gametens

Which of the following options is correct?
Spo_drateupdled sflwneng) erg) ?

) (a), (c) and (d)
(a), (¢) whmid (d)

(C) (b), () and (d)
(b), (¢) wpmid> (d)

(E) Answer not known
alen @Az Mweildana

(B) (a), (b) and (c)
(@), (b) wpmib ()

(D) (a), (b) and (d)
(a), (b) wpgid (d)

The reduction of number of working days while keeping the number of

hours of work the same is

Cauma Cprsas @Cr wrdflurs meusgsHs Csram®n eury BILSMET GDLILIZ

TG

ﬁr Compressed work week
&m&suul L Coueme aumy

(C) Reduced hours
G@n&suuLL wenfl Cryb

(E) Answer not known
cllenL Qgflwaeilcveney

(B) Reduced week

GODESIULL. QUTNLD

(D) Compressed policy

SHE&SLULL Qaretens
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124. The personnel man is described in the text books and journals is like
much talked about but seldom seen.

urLuysssmsar wHpb usdHilsmsseaiier gafliucL weallger elauflssLLGSH DT,
gl Cuasiul Leuir yearme euGursmeug uniTdsluBeuni.

6 Abominable snowman (B) Lawrence Appey
Simeumriurer ueflwelgen e SLGU

(C) Area of maximum authority (D) Yoder’s classification
Fsu g afamgd Qs LGS Cumitav euensLLm(®

(E) Answer not known
allenL Qgflweiicvens

125. is a written statement of what a job holder does, how it is
done, and why it is done.

aretug) e Ceuamaruiley @wuiueur ereten Ceuenaw QAFwSprir, s

aeueumy QeLwiu®dpg wHb <ig gar AFuuLUBHDG eTaTUSHSTET 6T(WYSHS

L reuomen MEmswm@n

(A) Balance sheet 6 Job Description
@muy fleves@huy Ceuenaw ellerésid

(C) Job Evaluation (D) Tax report
Cauarew wHUSE aufl Sidsms

(E) Answer not known
allenL QgMlwelcrenev
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126.

127.

is the process of teaching new employees the basic skills
they need to perform their jobs.

aatug @m ydwu eafuir sars@ Gesr@ssuul L Ceauameew
Cup@smeareusn@ Comauwimer SgliumL Spearsmer &HA&EGD QFuen@Lb.

(A) Appealing rB)' Training
wpaopui® LQHé

(C) Meeting (D) Chatting
Fhi SiLanL

(E) Answer not known
e Qg flweldena

How we can ensure that the employees have performed their role
successfully?

vemflwneriser grsEnsE uatssuul L Gaumeamwu Geaupdarorss Qswigdrarear
eremueng eTlug. 2 midl Qawieug) ?

(A) Competency advantage 6 Competency mapping
fpero veen Swern uLssenfluy

(C) Competency skills (D) Competency development
Hoasaren Hpewaer SHoen cuemirgs

(E) Answer not known
elenL Qgflwaeildvene
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128. Match the following :

EC Qasmssiiul_Hatarens QUTmSHS

(a) Amount of output 1.

Qeueflui®) iemay

(b) Amount of profit
@oru erey

(¢) Cost efficiency 3.

Qeeay Hmebr

(d) Employee skills 4.

uesflwreriger Smew

@ ® © @

A 1 2 4 3
B) 2 1 4 3
©€) 4 3 2 1

3

& 1 4 2

(E) Answer not known
cllenL Qg flwaiicveney

N

Sales commission
lpuener sLdlase

Gain sharing

QYFTW USTH6D

Skill based pay

S By uuemLuiléd eardluib
Profit sharing

@eru udlige
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129. Choose the correct option :

sflwrer cllenLenw QAgfley Qauis :

Statement I : Training helps to improve the conceptual and decision

making skills of employees.

aursfwd 1 D ul@pd ereug esmPuiseflan &BSH WLHHID Wi QeuBHEEGW

Snengaer CubUBSFHID.

Statement II : Performance appraisal enables assessment of training

and development needs of employees.

argfud II @ Qeswodpar wHLOGsD eaug wWHH O eueriEs

@)
(B)
Y]
(D)

(E)

Caaneugamer wHUEH Qeuiw eudleu@EGs@n
Statement I and II are correct
aunsdww I wppw IT gy dwumes &f
Statement I i1s correct but II is not correct
aungdwuw I sfl yeme II goumy
Statement I is not correct but II is correct
aursduw I seumy <yeamme 11 &M
Statement I and II are not correct
aursdww I wpmw II g fwueme seum

Answer not known
den Asflweiidenaw
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130. Arrange the following stages in chronological order :
Qemaumw Hlenavsamer cuflensliuBisseyw :

1. Test
Cengenen

2. Receiving Application Forms
elamemriuliug eutigeeTy Glumige

3. Final Interview
@nid Crirsmemed

4. Medical Examination

LSS 6y
A 1 2 4 3
B 2 3 1 4
2 1 3 4
D) 4 3 1 2

(E) Answer not known
e Qg fMweldren

131. enables developing managerial skills in an interesting
manner
seungevwioner wpepuie fiteurs Hpener CbuU®BSS 2 sHSIPODWTEGWD
6 Business games (B) Reading
cuantla eSleemum’_H&er auréluiy
(C) Classroom (D) Committee
UGUU®D GWP&&aT

(E) Answer not known
edlen Qs Mwaeildenaw
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132.

1s an objective method of promotion.

Hoeuw (pep ugell 2 Wity L@LW.

@)
v
©)
(D)

(E)

Dry promotion
2 @i ugell 2 witey

Promotion based on seniority
uenfl wergyflend ugal 2 witey

Promotion based on age
auwg SiguuemLuliorear ugell 2 wiey

Promotion based on merit
563 qgLuemLtlorer ugell 2 wite

Answer not known
alen Qg flwacilvene

133. Arrange the correct sequence from the following.
Wemreumeuameupdlel(pihg sflwrer cuflenseniu @RIS®LESED

1

(B)
(©)

(D)

(E)

Analysis of work — Job Evaluation — Recruiting — Employee
Engagement

venflller u@uumiey — Cauame LHUSTH - < Ceruy — veflwreri FHUTE
Analysis of work — Employee Engagement — Job Evaluation —
Recruiting |
uerfludlen LugLLuTbe — uaflumert FRHUThH — Cauame LHUISH - g Ceiriy
Employee Engagement — Job evaluation — Recruiting — Analysis of
work

uesflwrerit FRHUMH — Geuama LHUSTH — <L Cariiy — varllulien LEGULTWIGY
Recruiting — Employee Engagement — Analysis of work — Job

Evaluation
< Gairuy — uaflurert FHUI® — veflullen vGLuMLe — Cauamae WHUISEH

Answer not known
ellen Qs Mweildena
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134. Assertion [A] : Training aids in encouraging and achieving self
development and self confidence.

adlynssd [A] : swaeaisd wHML garablsmamw 2as@GellugnE UWHS
2 seyAng.

Reason [R] : Training helps a person to handle stress, tension,
frustration and conflict.

sryeurd [R] D uldhHd @ PUmEE LT BWPSSL, LSHPWL, ArEd WHHID
Cungdsmar eswner 2 56 5lng)

(A) Both [A] and [R] are correct and [R] is the right explanation of [A]
[A] wombd [R] @rarGw sf [R] erérug [A] e sflwnen eflatssind

Both [A] and [R] are correct but [R] is not the right explanation of
[A]

[A] womib [R] @ran@w s, [R] ererug [A] e sflurer cllerésn e
(C) Both [A] and [R] are incorrect

[A] wpmd [R] @ram@nd seum
(D) [A] is incorrect and [R] is correct

[A]l saum [R] &

(E) Answer not known
clen Qs Mweildvenaw
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135. The correct sequence of these steps while conducting job analysis is
Cauanats uGLumiemey Cuplarer@nd Lysefler sflwrer cuflans

1.

(A)

Developing training skills, knowledge and personal traits of the

worker necessary for a job
e Caumasgs Cosmeauwner ulbnd Hper wHpb Asmiereafluler gefltiuc L
(GHTTBHOGTEEMET GUETTLILIG)

Identifying machines, tools and equipment to be used for the job
Cauemeg@L vweTU@RSSULHI @Qubdrhsar, &(mellser WHDID
2_LIGTERTRIGENGET SN WITETLD STgnISH6

Identifying of the task to be performed by an individual.
am saflsugmed Qeawuw Geuamgw LaTlenw S@LWTETD &TEmsad

Determination of the materials, products or services needed.
GCesaeuwnar QurLser, swriluyser wag Crameausmer Siwmalgsd

3,2,1and 4 B) 2,3,1and 4
3,2, 1 wpmd 4 2,3, 1 vppw 4

~©’ 3,2 4and 1 (D) 2,3, 4and 1

(E)

3,2, 4 vppw 1 2, 3,4 wpmw 1

Answer not known
elen Qs Mweiidency
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136. Rearrange the following steps involved in feedback system in proper

order
Gemgpmi L. eowilbéd oder  Gemeumd  ugsmer  Flwutenr  euflensulled
LNEFMLOESELD

1. Identification of deviation
AWM SOLWIMTETD STEISH

2. Measurement of actual performance
2 amenwwiner Qewddpamer seredl(Higed

3. Actual performance
2 @menowinen QFwd e

4. Comparison of actual against standard performance
Revowrer QewadpaL 6 2 aremwwraians UEHge

@A) 3,21, 4 o 3241
©C) 1,2,3,4 D) 3,4,2,1

(E) Answer not known
aflen Azfwelldencw
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137. Which of the following are methods of on-the-job training
Wemeumauameaupiler GeuamauilGatu Lulpd Qumib WaDsET wremeu ?

1. Coaching
&HSHH

2. Job rotation
spHfudcdr Ceuana

3. Apprenticeship training
Qzmfd LuIHS

4. Role playing
BIL&EWOIE Blg&S60

5. Case Study

Hspay ey
A 1,2,3,4and5 B) 4,5
1,2, 3,4 vppo 5 4,5
(©) 3,4,5 qf)1,2,3
3,4,5 1,23

(E) Answer not known
elen Qg Mweicvene

138. Who developed the concept of Management By Objective (MBO)?
Cuaramen @GM&ECETET aTeanD SHSMS 2 (Houmdbdweui wmi?

(A) Henry Fayol ) Peter Drucker
Qaped LuGwme SCLiT Cyési

(C) Louis Allen (D) F.W. Taylor
Quilav peen 6Tool. LGlaTyy,. GLuwier

(E) Answer not known
ellen Qs Nweicvenew
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139. Which of the following in an organisation required to achieve competitive
advantage?
Gemeumpeuaeupiles e  Gerupdlenmed e  Blmeuerd  CumiiguielmBE
vwenQuDMD ?

(1) being the unique producer
saflsgeuonrer gurfluiureryns @ mUuUg

(11) delivering high quality goods and services
2 wirgy QummLsear LHNID Crameusamer euLPBIGG)

(111) leveraging on all possible means to save on cost
Qsaveney Gnss sngduwner cuflsamer LWETURSSHISED

(A) (1) only (B) (i1) and (1i1) only

(1) v Eb (i1) wpmw (1i1) w Hb
6 (1), (11) and (i11) (D) (i) and (iii) only

), (1) wpmid (1i1) () wHmd (1i1) L Hb

(E) Answer not known
allenL @z fMwelcrensy

140. Human Resource Management is concerned with the
dimension in management.

weaflgeuar Goanamen eTerug) fircunagded 2 erer uflwrerriiseficy
Sissmp QaremLg).
(A) Finance (B) Customer
[3F3 QUG SENGEWIMETIT
¥ People (D) Machine
O&SET @QuipSyd

(E) Answer not known
cflenL Qg Mweidene
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141. is a process of procuring, developing, maintaining and

controlling competent human resources in the organisation.
aenugl @ Hneuaigder Hpevwrer walls auatsams Caafuug,
Cubu@sgieug, ugmofliug wHMIL SLHUUT_IG® eSS HUIUSTEGD.

A) MBO HRM
(C) HCM (D) HCL

(E) Answer not known
ellenL Qs fwaeidwenaw

142. The operative functions of Human Resource Management does not

consist of the following :
waflgeuer Cuaramamwuiea @uéss uaiiger aaupap 2 e ssalldama ?

‘6 Directing (B) Procurement
QWwEESD GUITTENGSE

(C) Compensation (D) Integration
@uulse R(mrdeanTiiL

(E) Answer not known
clen Qs flwefdenaw
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143. Match correctly, the management functions with their respective
activity.
Spaam_ Cuarareaw GswdurBamer Seupdler arCarméE CewudUTB & EpL 6
sflursy QuImBSSeLD.

(a) Procurement function 1. Job Evaluation
Qamarpge Qewour® Ceuana wHUSH

(b) Development function 2. Fringe benefits
auenii&d Qewerump eflaflby BemenLD&ET

(¢) Compensation function 3. Placement
@ini@p Qewdunfh Geuara eumisiy

(d) Maintenance function 4. Training
ugrwiuy Qewdun@ uuiH &

@ ® @© @
(A) 2 4 1 3
B) 3 2 1 4

3 4 1 2
D) 2 3 4 1
(E) Answer not known

cllenL QgMwaeldensy

144, is the control of all transformation processes of an
organisation to best satisfy customers needs in the most economical
manner. .
amgsamswnarisefler GCsmeusamer Wasab Sssarorar  weapwild  Lisd
Qeeugpans o Fpauasdar smasg 2 wmLIHY QFwd wapseia &l GUUTH

eTenm SMWPESUILHEDS.

(A) Data Mining (B) Cloud Control

sreys QFwNESHD Cuw&s sl_(Hum®

) Total quality Management (D) Quality Assurance
Qurggs g7 Cemearento 87 2 S8lpeunsid

(E) Answer not known
e QgfNweldrene

Business Administration - 10/3 - FN 78



145.

146.

Which of the following chart shows the fluctuations of the means of
samples?

Gereuptb  elenssuuLmsealies  earemeu  wrdflsellean  uBepsaliar  gHD
@nésnsmen &MU _(HEDG ?

{ X chart ' (B) R chart

X afendsruLb R Geréstiuiw
(C) Pchart (D) C chart

P Qergsiuw C NersstiuLd

(E) Answer not known
eflen Qzflweiidena

The Quality Management strategy which is most associated with quality
standards such as ISO 9000 is

sywnen grfleneser gerevgy 9000 ararugsan e Qsruiyeomrw g5 Cuerareawuder
2 &4 eremugy

(A) Quality Inspection (B) Quality control
87 <26y | 87 SLEUUITE

% Quality Assurance (D) Quality Management
57 2 md &7 GCuenaremwo

(E) Answer not known
e Qs fweiicrene
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147. Which of the following are key components of a total Quality

Management System?
Qereumeuameupder Qs 57 Cuanaran iemwublea WPSHW SamseT wrme ?

(A) Individual responsibility, incremental improvement, use of raw
data
gafluul L Qurguy, sifsflsgn warGartmnw, epad srefler Lwern(

(B) Collective responsibility, continual improvement, use of raw data
gl U Qurguiy, Qgreiédlurer wparGarhpid, epe sreyseflar LweTLT®H

(C) Group responsibility, staged improvement, knowledge
& Qurmiy, fleve Cubur®, idley
) Involves everyone, continual improvement, use of data and
knowledge
S@aaumiyb e e sfwug, Qsruisfluner weaiGardpw, Srey LHHID
sifleller Lwerum@

(E) Answer not known
e Qsfweirensw

148. The quality system model for quality assurance in design, production,
installation and servicing is denoted by
augeiewly, 2 Husd, Hoeud womn Cemes YHweapde g7 2 sfreunssdparer

srsiemwuL wrd eran GMESLIUHEDI.
(A) ISO 14000 (B) ISO 9002
v 150 9001 (D) 1SO 9003

(E) Answer not known
clen QgMwaiicrene
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149. Which is the control chart for fraction defective?
Yemamd @Gepuniigharer sLHUurl® elletdsluLLb g ?

(A)

(©)

(E)

C — Chart ) P - Chart
C — AerssriuLw P - eenssvud
V — Chart (D) X - Chart
V — lergsriucd X — eflengsriuLLd

Answer not known
ellenL QAgMwaeilcveney

150. ISO 9000 and ISO 14,000 are basically
ISO 9000 wpmw ISO 14,000 Hwereu S LU WINEs
QsremLg,.

K Process Standards

(B)

(©)
)

(E)

Qswepen srhlenasar

Product Standards
swurfluy sylevager

Both Process and Product Standards
Qawdapen whpib gwurfiy srhamasd @reamHin
Acceptance Sampling Procedures

FhY uUsSsam GswdpaDEET

Answer not known
eflen Qg flweidena
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151. The activities an organisation carries out in order to satisfy the quality
related expectations of customers so it is called as
aumgsaswnarisefler gy Qgriurer ardliuniiysament yisd Qsueusnsns @
fpeuend Cuplsarearepd Gawdur@ser aaCes @) eTem
SpWP&EIUBHEDSG).

(A) Management Information System
Cueramemw $56ud UL

@ Quality Management System

57 Guerarend el

(C) Quality Control System
&7 sLHLuur® ey

(D) Statistical Quality Control
yereflulwed gré sLGuun@p

(E) Answer not known
e Qgflwaeilceney
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152. Find out the following are under the project management :
Wemeuauaraupearm Hi L Goanameanuier epad saTHitiligés

(a) Commissioning of a factory
Qzmfihsrereamu QuisEGse

(b) Launching a new weapon system
yHw s siemwieru QST kiEsed

(¢) Conducting National Election
Caflw Caigeler Cumiiguihse

(d) Research to develop a new technology
yHw Asmloplusms uieilen ppad cueTissd

&) (a) and (b) ®B) () and ()
(a) wpgd (b) (b) wpmd (©)

© (@), b) and (© v, All of them
(), (b) wpgid (©) Swansg

(E) Answer not known
eflen Qgflwaeiidena

153. Calculate the standard production per shift of 8 hours duration, with the
following data :
8 warfICrIL 2 6Ter @ aflH&E Haawrnear 2 Husd eeucuarey?

Observed time per unit = 5 minutes

R SAVGEsTa Cobd = b flmser

Rating factor = 120%

STULOSS® Sryent] =  120% (
Total allowances = 30% of normal time
Qar@ssuul_perar Qwrsgs ugsear =  30% srsmyenr CauamaCHyd
(A) - 63.21 ) 61.54

(C) 65.11 (D) 66.53

(E) Answer not known
e AzNwelerenew
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154. Frequent purchase of items in small quantities, according to the

requirement is called as
APlu  emeysafler QumrmLseer iussy Cseeuullenuy euThiGEeH eTeuemm)

SIMWP&ESULHEDG).

6 Hand-to-mouth purchase (B) Market purchase
aswWmed eumuiedr QsmeT(psd gheng GasmeTpse

(C) Scheduled purchase (D) Speculative purchase
HrLfluuul L Qsrarpsd 2618 QETETAPFHED

(E) Answer not known
edlenL QgRlweildvena

155. system, the organization will enter into an agreement with
its supplies to receives items for a require quantity at a particular rate
over a period of time.

vy @n GHIUALL stsddE o@m GHUIALL ldssdd
Coameauwrenr <etey Qummenats QumeushE gen NFICuNshsEELe ¢

RUUBSSSD HIPLD.

(A) Forward Buying (B) Tender Buying
penGamnsdl eumni@&ge RUILBSSHD umiEseD

1() Blanket Ordering (D) Zero Stock Purchase
Gurireneu euflensiui(h$gigen LW Lk

(E) Answer not known
ellenL Qgflweildvensy

156. Operation Planning is the Level of Production Planning.
2 Husd HLgHed Revawwlldr Qewdeean S o drerg.
(A) First Level (B) Second Level
ws® Hlevaw @uamLmb Hlenew
¥ Third Level (D) Fourth Level
epempmd Hlenew BIeETD Hlenew

(E) Answer not known
e Qgflwelevenaw
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157.

158.

159.

Who is the contributor of Motion Study Job?
Cauamasdr upPlw ey QusssHen umisafiLiument wmr?
¥C  Frank B. Gilbreth (B) F.W. Harris
Slyrig 9. Soudrs 6Toul.Liqlemyy,. emmflen
(C) Henry L. Gantt (D) W.A. Shewart
Qames.eréd. smesrL_ LlleTyy,.qr. Cageumi
(E) Answer not known
clenL Qg fMweilcrene
The means of improving ways and means of doing things is called
stfilugens Caueusparer euflsar wHMD eflpapsaer CubuBdgHeushHarear
audpennaer ' TN DMPEEULHEDG.
(A) Time Study (B) Motion Study
Cor <puiay Qués ey
(C) Work Study ) Method Study
Couaner ywiey POD I
(E) Answer not known
cden Qs fMwaeildency
A 1s the result of a decision taken at the highest level.
) erenmug) 2 Wil L $Hd eTO&sUUL L (pyeder cllenareum@w.
(A) Corporate Strategy ) Business Strategy
Qu@pdpeuer wss cuenfla wsd
(C) Operation Strategy (D) Management Strategy
Qeweur® ysd Cuanamew wsH

(E) Answer not known
en Qs Mweidena
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160. Managers in companies across the Supply Chain take an interest in the
success of other
AHCurss smdled Wueugib o eter Fipeuatmsaiiar Guemerisdr WwHDeuHBen
QeupPluded <y freud sm_(HElemmarir.

(A) Organisations (B) Partnership firms
SN SET gal_Lnementd Hlmicuenriiger
Companies (D) Factory
Hmieued Qzminerene

(E) Answer not known
eflenL Qg flwelwene

161. In a supply chain, the major responsibility of a purchase manager is
AfCwnss srdldluiier, Aameatapgd Cuarearien wadwls Qummiiiy

(A) To select the right supplier
sfluren lfCunaevgismer CsibAsHSSM

(B) To have good relationship with suppliers
AFICwrdluumeTigEnLen Bow 2 maneuds Qerarghés CauaT®b

) To develop the capability of suppliers
AFICGurdluunarigaflen penar cuemiriuig

(D) To contract management with the suppliers
AEIGurdluurarigErLen liubs GCoararean

(E) Answer not known
ellenL Qs flwefwvene
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162. Match the followings of service

163.

&Gy aumeuamng Ceameuuier AummSEIS

(a) Entity
Himieuenid

(b) Storage
Gelluiy

(¢) Life
UMDE®S

(d) Labour intensity
2 enpuiumenit ety

@ ® @©© @
6 2 1 4

3
B) 3 1 4 2
©) 4 1 2 3
®d) 2 1 3 4

(E) Answer not known
een @ Mweiidvencw

the economy.

goHuLLg).

(A) Production Management

2 HussH Cuerameno

) Operations Management

Quss GuearaTend

(E) Answer not known
e Qgfweildwene

1.

87

Not possible
sngHud @dena

. Intangible

YORNTETS

Tends to be high

Cuns@ Hewns @QHEE@GD
Short

S

was a shift in the service and manufacturing sectors of

Qurmerngmysslen Gseancu wLHMIL 2 HUSHS gGwpsaies wTHMHLD

(B) Middle Level Management
Bbh357 Hlene Gueramrento

(D) Top Level Management
o wirnl L Cuerearew
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164. Order processing, shipment and receipts application are carried out by
Activity Subsystems in MIS.

i Qeuerssd, ghpwd wovomb (égsdar Cuman Qewudsmer Qswiuwb
Cuereamenn 5660 AU SMarT MWL 6Tg ?

(A) System Software Processing mransaction Processing
sanflafl Queat@Qummer QFwTEsELD ufleuigsemen QFwQTESED

(C) Computer Based Processing (D) Man-Machine Processing
sanflafl snibs QFwnsEsDd wafls-@ubdr Qewmrsshd

(E) Answer not known
eflen Qgflweidana

165. Television Based shopping launched in the year.
Agrene&sT § SigliuamLuilonrer ubsmL SmsTy QST RSHULL eu(HLLD

\() 1977 (B) 1976
(C) 1980 (D) 1986

(E) Answer not known
eflen Qgflweildena

166. The Government of India has approved the National E-Governance
Action plan for implementation during the years
ahs Yeamgd Qrudu@sseuspsns GCzflw llar Epmw Qswd FHLsHDE
GpIu s @ULED Safiggerarg

) 2003 - 2007 (B) 2004 - 2008
(C) 2005 -2009 (D) 2006 — 2010

(E) Answer not known
dllenL Qg fMwelcens
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167. This is a software used for delivering, tracking and managing

training/education
@& uvlpd/swed  apriEsd, samsmeaiuy  wHpL  HruduusHEGU
vweTuHissLu@b GweTQummaT

(A) Online Shopping

Qeamueflulicr QUL seer QUGS
(B) Online Trading

@eamuend auisssbd
(C) Computer based learning

salall gt ulld sHme

6 Learning management system
sHmed CLOTETED BIEMLDLIL

(E) Answer not known
elen Az flweildvencw

89 Business Administration - 10/3 - FN
[Turn over



168. Choose the typical applications are mentioned as follow
ausswrer Lweaturhsmes Caibbs®Hsse|b Weraumwrn GAUGLUUL Hidtarg

(a) E-Banking 1. Buying and selling on net
et cumid Qenamrugled eummiGeugib, edlbHugbd
(b) E-Retailing 2. Selling goods on net
Werr fldewenn eSlhLienen @aarusdHe Qurmpseaer allhuemen Cguige
(c) E-publishing 3. Internet banking
Blewr Qeuaflui® e cukid
(d) E-Purchasing 4. Electronic documents
et GAameTpgen O\ GTETEm <,6 6T RIS ET
(e) E-Selling 5. Order processing and Delivery
Wetr edlpuene <Lt Qewdpenn wHmb eNHCuNED

(@ ® @ @ (o
41 2 3 4 5
3 1 4 5 2
© 2 3 4 5 1
M 3 4 5 1 2

(E) Answer not known
edlen Qs fMwaeildvenew

169. A system that supplies information specifically to aid managers with
decision making responsibilities is called a
Cuaoreriseflenr Siey srgubd QUIBLEO ASHE THUME FHEUMDSGET GULPMIGLD
DU TG ?

(A) DBMS ) Mis
(C) DSS (D) DBA
(E) Answer not known

ellen Qs fweldrene
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170. Assertion [A] : Data Integrity means that data is accurate and consistent

in the database

sapm [A] ! BT6y @EeLLIUT® aaTug SrasseTsHd $re| FHlWLNEeyD

gnseyd @QLuMmsS GHES DS

Reason [R] : Data Integrity also ensures that your data is safe from

any outside forces

smeud [R] : srey @mewvuun® e mser srey ahs Qaualliiyp s&dsefl O BHgibd

ungsruung @m@wuueng 2 mid dewudpg

«  Both [A] and [R] are true and [R] explains [A]

(B)

(©)

D)

(E)

[A] wpmn [R] @rarw sfwrag wpmb [R], [A] ee alasgdpg

Both [A] and [R] are true and [R] does not explain [A]
[A] whmw [R] @reampw sfwrang [R], [A] meu efenssaiidvena

[A] is correct and [R] is false
[A] sflwreng whmid [R] seupreng

[A] is false and [R] is true
[A] seuprang wpmw [R] sNwreng

Answer not known
cllenL QAgflwaeiicveney
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171. System may be defined as
SenuiL TS QUETWMISSLILILQTLD

4 Set of elements that are joined to achieve a common objective

(B)

©

D)

(E)

172.

@@ Qurngieurear Crréssms SiemLw @aanssiul L smpsafler QgmE@oy

Anything like circulatory system
&HComL ey Curenpenel

Set of elements to get profit
Qeruw QuueugdaTer Fmmsafler AgmEli

Another name of desktop
QLavsLmiulen wH@mm®m Quwi

Answer not known
clenL Qgflwaeldena

stores the critical data of an organisation MIS, retrieves

it, updates it, helps in analysing it and deletes it

g @@ Hoeuer MIS - ér wsfwwrer sreeu Callafpg

ms BLOLGSADg, ymulsdpg, Bs&Gdpg wvwHNL SBF LGLUTLG]
Qaiiweyb 2 oydlpg.

A)

)

(©)

Central Processing Unit (CPU)
wsHw Qeswanss siweg (CPU)

Data Base Management System (DBMS)
&6y siyliueL Cuenagreaw s@wiy (DBMS)

Information System (IS)

ssaud vy (IS)

(D) Enterprise Resource planning (ERP)

Pocuan auer i (ERP)

(E) Answer not known

Men Qg flweldene
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173. The problem of thrashing is affected significantly by
LSS /4SS5 Anssamen argeanned sanflgons undlssiGEng

6 Program structure (B) Program size
sentiafl Hlyéd siemwLiy santlefl Hlyd siemey

(C) Primary storage size (D) Secondary storage size
e Caliy erey @remLmbd Hlenew Caullliy siemey

(E) Answer not known
elen Qs fMweiideney

174. An information system that responds immediately to the need of the
physical system is called _
2 Ld Sewlulear Csmeus@ 2Lanquns ufloallsgd sseud S@LUY WoD
TN SMPESLILHEIDS

(A) Online system (B) Offline system
Blaphleane emwi Hlefleney yenioiyy

(C) Inline system ) Realtime system
@) enanavert eI B Crr ey

(E) Answer not known
edlen Gsflwaeildvenan

175. Which of the following is the 3rd stage of transaction processing cycle?
Qereumeuareupied ergl ufleuissamen QewTsEs sPHHuddr 3eug Hlene ?

(A) Data entry (B) Transaction processing
grey 2_ataf(H ufleuirsgamen Qaweaparn
6 Database maintenance (D) Inquiry processing
sreydger ugmofliiy grgenemtsd QFLILTEED

(E) Answer not known
allenL Qg flwaeicvensy
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176. GIS deals with which kind of data
GIS aps aumswnen sraysmar @sLUTTEDS|

(A) Geography geological and complex data
yelulwe wpmibd A5 YsSLULL ST6y

(B) Geological and Binary data
Helluwwer wHmb euerf srey

{ Spatial data
QL sribg Srey

(D) Complex data
Slssener syey

(E) Answer not known
aflen Qg flwaildena

177. Which of the following is not the types of Decision support system?
Gemeumeuameupder aTg Wiy @euBHEGD AT (PEODED D6 ?

(A) Status inquiry system
flenaw eflgmyenant ienwliy

(B) Accounting system
sasSlwed enliy

Transaction processing systems
ufleutsgenear Qaupern SiemwLIL

(D) Model Based system
wrdfl g uuemLuleorer SiemwiiL

(E) Answer not known
clenL Qg Mweidwenaw
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178. A is an interactive computer-based system to facilitate
the solution of unstructured problem.
R GTeTLIg) G(Peuns L enanibg) Qewdu@w
pyQapuuaisaisar QsrEUAwd &GlLamwssluLTs Sisosamas STLUgHE
awsdlwung @@ caL TR saflal SiglumLulorer sewlurEb

(A) Decision Support System
WRe 2BTE| SLOLILY

) Group Decision support System
GW Pa0] WBTEY SiLIL

(C) Quality Management System

&7 Gorarend el

D) Manégement Information System
Cuareamend &6ue) eIy

(E) Answer not known
cllen QAgflwefcvensy

179. Arrange the knowledge management process in chronological order
2Mey Cuanamenw QFudpampamw srTacfamsiiug @UWEIGUHSSHS

1. Organizing

RPRISHOESD
2. Transfer
uflwrHob
3. Refining
&sda My
4. Capturing
®E&UUDHDISED)
@ 4,321 0 1132
<O 1,2,38,4 D) 1,3,2,4

(E) Answer not known
eflenL Qg flwaelcrensy
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180. The report which provide few of the critical statistics from the preceding
day’s operating activities to managers on a daily basis are known as
Sansdl sgliuen_uier Cuerarhe@ Wwhasw Brlsaler BLeulgsmauladmbg Ho
wsfwwrer yatafl elleurmisaner cupkIGeuams UMD HHLPEHMLD

v Key-Indication Report (B) On call report
wsflwu dEH sidsms SdPUy P&ms

(C) Special report (D) Exception report
Apuiy siM&ens el eflevsg ihlsms

(E) Answer not known
aflen Qgflweildena

181. According to the net income approach, the capital structure decision is
FlET uHLTET eGP MDUIGHTLIY, APOSET SMWLIL (Plge| CTETLIF

ﬁ Totally irrelevant (B) Totally relevant
Weugb AgTLity @dame WPpeugib QAFmLit 2 éTeng)

(C) Partially irrelevant (D) Partially relevant
uGSwuns AgrLiry @dame ugHwuns Qsmin 2 drarg

(E) Answer not known
der Qgflwalerencw
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182.

183.

Financial distress may lead a firm to bankruptcy resulting into the
following:
P Apmésy  @n;  Hoauages Haurd  Heowse GUEE  deam
Qemeu(meuaauddin@ eull U@ @b,
1. Distress sale of assets at lower prices
Qpm&Esy. sryemwrs QFrsgissmen Gmnhbs cllamaulldr elhumen GswLigea
2. Legal and Administrative costs for bankruptcy
Houner Hlevavsster gL whmid Hifeuns Aswe|ser
3. Dilution of Stakeholders’ Committment to the firm
Pyeuar ui@snisaien 2 pHuur e Bisgn Curs Aswgd
4. Stretching of payments to suppliers and creditors
FLIMETWITEET LHMID SLaTTelsEné@ uamb Qeqsgicuams By s

(A) land4 (B) 3and 4
1 womd 4 3 wHmib 4
(C) 1,2 3and4 ¥ 1 and 2
1,2, 3 wopw 4 1 whmd 2

(E) Answer not known
elenL Gz fMweildenaw

Cost of Equity Share capital is more than cost of debt because
sngngenls ukiGsefler Gswe L Qewames L iflab. gharaie
(A) Face value of debentures is more than face value of shares
sLen ugdrmseflen WswHiy ukigseiear s wHlmu ML Hsb
6 Equity shares have higher risk than debt
FNFTIERT UkIEGSET sLmar ol 2ifls umub fHleapbsame
(C) Equity shares are easily saleable
sngnyenT ukGSeT eraflld ellHasaniqweney
(D) All of the above
Cuhsadu simensgHIb

(E) Answer not known
alenL Qgflweiidwene
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184. 1s the multiplier used to calculate at a specified discount
rate the present value of an amount to be received in a future period.

aatug @ GSHuGlL sarepuy  Nlflgsded  adisrashd
Qupuu@pn Qgremswtier sHCummsw wHumus samsd vweaTu@b GQuElSE

G D.
u( Present Value Interest Factor
sHCuregw LAY ul g STyt

(B) Future Interest Factor for an Annuity
@M uBLSHDETET THisTo ULty smyenf

(C) Present Value Interest Factor for an Annuity
@ aumLsdpstar gHCuresw wHuy el iy sryef

(D) Time Value of money
uemglen sme wHLILY

(E) Answer not known
ellen Qgflwaeicvene

185. The risks which are arised due to earthquake is called
HopHEsssM160 FHUBD NUTURIGE iU S@WssLLG&epern?

(A) Dynamic Risks W Static Risks

WOTMID BUMURISET Hlerownrer SumuBISET
(C) Fundamental Risks (D) Pure Risks

SDlIgLILIEIL. S LIMWIGIGET SNUIHOWITEST DU MWIBIGET

(E) Answer not known
cllen Qgflwaeilcveney
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186. Internal Rate of return at which
2 &7 eu(meuml eSS eremmLIg)

@ NPVis Nil
A&y sHCumengw wHiy Geéoeana

(B) NPV is Positive
Bar sHCureamgsw wHuy Crirwenm

(C) NPV is Negative
Rar sHCGurengw wHuy adliven

(D) NPV is Either positive or Negative
Bar sHCurangw wHuy Criwenn idag adivanm

(E) Answer not known
cllen Qs flwaicvenaw

187. The term ‘Capital Structure’ refers to

APOSET DDLU TS ‘

( Long-term debt, preferred stock and common stock only
B sre sLen, efmUU UkiE wHHIL QUL UG

(B) Current assets and current liabilities
BLUL GQenggiss@End BLULy QurmitiysEsbd

(C) Total assets minus liabilities
Qurgs Qenggisser sflés Qummiiyser

(D) Share holder’s equity
UBIGSTTisetlen Lki@ser

(E) Answer not known
elen G Mwaiidena
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188. A firm needs cash for making transaction in the day to day operations is
called
@ Bpeasder geuQeumm mreT LweTuUTL H&E uawm uflauissmar Cslcums
e SIMP&ESUILIHEDG.

) Transaction Motive (B) Precautionary Motive
uflorpp Crréswo wenbanssfsens Crréswn
(C) Speculative Motive (D) Specific Motive
o618 2 g6 CHISEED GO L Crrésbd

(E) Answer not known
ellenL Qs flwelcene

189. Gross working capital refers to capital invested total of
Qurggs CQewouT(H APSHTD 6TETLIS W3dhH Qauwiuc
posaEDss GHES DS
(A) Current Assets
BLULE QEnsgisaer
(B) Fixed Assets
Bevowren Q&nggisEser
(C) Circulating Assets
SPQID QAFTSFI&S6T

6 Both Current Assets and Circulating Assets
BLUYE Qenggisset bHmnib SPaib QFnsgdheer

(E) Answer not known
allenL Qg flweldvene
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190.

191.

Which of the following statements are true about working capital?
uenfll epasaisast updu Gt NsMs 2 aTmLwns @MmEEGL euamsuild
sflwuren s CaibEsHEHa|b.
(1) The sum of the current Assets
pLLUL Qarsgisaiien sl HS0sTNS
(11) It is the amount of funds necessary to cover the cost of operating the
enterprise
@8 foeuasms pLIFusHatar CQevmeu mFhalL GCgameuwrer Hlulen
LY
(i11) It is a measure of both a short term and long term financial health
@8 endu st wppw fare st B Crresdub Ereamger eTei(
G-
(A) () only _ (B) (1) and (iii) only
(1) vLEW (1) wHmw (111) L Ed
6 (1) and (ii) only (D) (1) and (i1i) only
(1) womb (1) w Hb (11) wpmw (111) L EWb
(E) Answer not known
cllenL QgMweiidens
ABC company sells 10,00,000 units of a component in a year @ 25 per

component. The company’s outstanding receivable @ the end of the year
are Rs.17,12,329. Compute Days Sales Outstanding. [DSO]

ABC fpeuend gm <geamgd 10,00,000 arsb sewGsoen @m A0S 5. 25
aerp eHlenauder ellpuener Gewugg. HmeuarsHen HlMeuwITd 2 6TeT GUFeYEHET
&b Qmlld @.17,12,329. priselld  Haemeuudes 2.dter  eureysemer
S&TL_HlweyLd.

25 days (B) 35 days

25 BIL&6T 35 BIL&eT
(C) 45 days (D) 65 days

45 BpIL&aT 65 BIL&GT

(E) Answer not known
elen Qs Nwaeiidenaw
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192.

193.

194.

represents the aggregate of current assets that are
converted, in the ordinary course of business, into cash within one
accounting year.

@M samsdud auBLSHDGar srsryem  euaflsuCursdlen
uesTons WwrHPUUEDL HCUTmsw Aersgseaiar Awrsssmas GNEHDS.

Gross working capital (B) Net working capital
Qs QFuouI{ ePOFETD Hlar Qewdurl @ epegerd

(C) Cost of capital (D) Capital budgeting
ppgan CFwey ppvger L GlegL

(E) Answer not known
e Qgflweldoena

Net working capital is the excess of current assets over

flag  Qewuour @ epogard  eremug) i gHCunansw
Qenggsatien siflstiuguwreng
(A) Total Liabilities {Current Liabilities
Qs sLenger SHCGUTMSW &L enger
(C) Intangible Liabilities (D) Fixed Assets
Simeuorer Qurgliyser Hlay Qenggser

(E) Answer not known
e Qgflweldena

Which one of the following type of working capital is financial through a
portion of long term fund?
Wemeu@d cuanssaild uefll ppwgard ahs LGH BarL st HHwuns sEasILESDS

(A) Cross working capital ) Net working capital
GN&E Couame epasad Blar Qauoum’( P aTid

(C) Floating working capital (D) Regular working capital
Wg&@W0 ue epaFaTd Qgmrsflwrear uanfl epogarnd

(E) Answer not known
eflenL Qgflwaeidens
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195.

196.

The prime goal of is to maximize the value of Enterprise
by striking a Golden mean among liquidity, risk and profitability

sis sqrefleow 2 (haurs@Geauger apod Hineuar wHlmu 2 wiFsgeughHans GLI,
ueRTUIL &S WwHmb erub Curaimeaeusmer Crrsshisarms CsmeaTeug

(A) Working Capital Management
BLpamD ppgen GuoraTento
(B) Risk and Uncertainty
@i whmd HEFuLHD Semeno
\( Receivables Management

Qupssssames Guanamenn

(D) Return on Investment
W3S tg6m Goed eu(mHeumL

(E) Answer not known
cllenL Qgflweiicvene

is caused by risk factors that affect the overall market

securities.
Smansg shws usHrmsmer umdEGw @@L smerflsetnd ghubd QLA
eTeTm GUENSLILI(HIWD.

(A) Unsystematic Risk (B) Market Risk
GopwHo QL sheg @i
Systematic Risk (D) Risk return trade off
perpwiner @i , @L T eumeum eUTSSSLD

(E) Answer not known
alenL Qgflwaeildwene
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197. Time value of money indicates that.
uemgdlenr Cwy wHiiy Tanumsd GNS&S g .

(A) A unit of money obtained today is worth less than a unit of money
obtained in future

Qerm Qupuul L uemgdlen D@ adisTosded Qupuiul L uaTsams oSl

wSILLDHDHG)

6 A unit of money obtained today is worth more than a unit of money
obtained in future
@erm Quplul L uemsHen G adisTosHd QUDLILLL @B DG
uemsens el SiHs wHiymLwg)

(C) There is no difference in the value of money obtained today and
tomorrow ° ‘ ' )
@etmid  Breverwd Qupuu@ uewsden wHUGD eaBs NsHunFPL
@ome

(D) Individuals not prefer current consumption
@@ pui gHCurmsw HmsTasamen allHLeuSdame

(E) © Answer not known
dlenL Qg flwelcrena

198. The profit maximisation objective has been developed in the early
Qaorusms 2 wiggb Crrésh ahs HIHDTETLH QararGeauriulLg?

(A) 18th Century ) 19th Century
18eug) BIHOIERT(H 196ug) BAHOTERT(H
(C) 20th Century (D) 21stCentury
206ug) BIDOTEHTE 2168l BIDHTEE
(E) Answer not known
aflen Qgflwaeiidena
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199. If the annual requirement is 12,00,000 units: Purchase price Rs. 3.00 per
unit; Ordering cost Rs.50/- per order and the carrying cost of inventory,
10 percent of cost. The economic order quantity is
pen®s Gseweu  12,00,000 walll@adr eaapred; Gameaipge  eMane

m.3.00/ -l H&EE: WTiT dswey @5.50/- @M YT BEGSW WLHND FTEGSET
Fopg Qesogd Qswa), Qswelld 10-sgaisLrEb. Qepop samsdlLrd,

QuUIEHETTSTT PRI DieT6Y 2 GW.

(&) 40,000 units v 20,000 units
40,000 S @&saT 20,000 S @Gser

(C) 2,000 units (D) 4,000 units
2,000 Sl@GH6T 4,000 SOGSHET

~(E) Answer not known
e QAgflwelcreney

200. The Financial management is responsible for the
8 Cuanarenwulien Gurmiiiy ereTug)
(A) Controlling of the organisation
@ mwlemu sLHUUBSSIS
(B) Organising training programmes
v@pHS Hapesemer ghurh Gelieug
(C) Recording the transaction

ufleuirsgemeansener ufle| CFwcug)

% Finance function of the firm
@m fnauasdear flf Qawudur@ser

(E) Answer not known
eflenL Qgflwaeiiceney
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